JMJ COLLEGE FOR WOMEN (AUTONOMOWUS) :: TENALI-522202

| Year B.Com(CBCS).,General | Semester
Paper-101 Fundamentals of Accounting-I PPW :06 Hours

Unit-1 — Introduction to Accounting

Need for Accounting — Definition — Objectives, Advantages — Book keeping and Accounting—
Accounting concepts and conventions - Accounting Cycle - Classification of Accounts and its
rules - Double Entry Book-keeping - Journalization - Posting to Ledgers, Balancing of ledger
Accounts (problems).

Unit —I1: Subsidiary Books:
Types of Subsidiary Books - Cash Book, Three-column Cash Book- Petty cash Book (Problems).

Unit-111: Trail Balanceand Rectification of Errors:
Preparation of Trail balance - Errors — Meaning — Types of Errors — Rectification of Errors
(Problems)

Unit-1V- Bank Reconciliation Statement:

Need for bank reconciliation - Reasons for difference between Cash Book and Pass Book
Balances- Preparation of Bank Reconciliation Statement- Problems on both favorable and
unfavourable balances.

Unit -V: Final Accounts:
Preparation of Final Accounts: Trading account — Profit and Loss account — Balance Sheet — Final
Accounts with adjustments (Problems).Final Accounts with tally.

Reference Books

1. T.S.Reddy&A. Murthy, Financial Accounting , Margham Publications

2. R L Gupta & V. K Gupta, Principles and Practice of Accounting, Sultan Chand & Sons
3. S.P. Jain & K.L Narang, Accountancy-l, Kalyani Publishers

4. Tulasian, Accountancy -I, Tata McGraw Hill Co.

5. V.K.Goyal, Financial Accounting, Excel Books

6. K. Arunjothi, Fundamentals of Accounting; Maruthi Publications
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Unit-1 — Introduction

Concepts of Business, Trade , Industry and Commerce — Features of Business -Trade
Classification - Aids to Trade — Industry — Classification — Relationship of Trade, Industry and
Commerce .

Unit 11- Business Functions and Entrepreneurship

Functions of Business and their relationship - Factors influencing the choice of suitable form of
organization — Meaning of Entrepreneurship — Characteristics of a good entrepreneur - Types —
Functions of Entrepreneurship.

Unit —I11 — Forms of Business Organizations

Sole Proprietorship — Meaning — Characteristics — Advantages and Disadvantages — Partnership -
Meaning — Characteristics- Kinds of partners — Advantages and Disadvantages — Partnership
Deed — Hindu-undivided Family — Cooperative Societies.

Unit-1V- Joint Stock Company
Joint Stock Company — Meaning — Characteristics —Advantages — Kinds of Companies -
Differences between Private Ltd and Public Ltd Companies.

Unit-V- Company Incorporation

Preparation of important Documents for incorporation of Company — Memorandum of
Association — Articles of Association — Differences Between Memorandum of Association and
Articles of Association - Prospectus and its contents.

Reference Books



C.D.Balaji and G. Prasad, Business Organization - Margham Publications, Chennai.
R.K.Sharma and Shashi K Gupta, Business Organization - Kalyani Publications.
C.B.Guptha, Industrial Organization and Management, Sultan Chand.

Y.K.Bushan, Business organization and Management, Sultan Chand.

Sherlekar, Business Organization and Management, Himalaya Publications.
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Section—A
l. Answer All of the following 10x1=10M
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10. How is the liability of Sole Trader.
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Section - B
Il Answer any two of the following 2x10=20M
11. Distinguish between public limited Company and Private limited Company.
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12. Explain features, merits and demerits of Partnership.
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13. Explain the merits and demerits of Sole Trade.
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Section - C

ll. Answer any two of the following 2x20=40M
14. Explain features, functions and Types of entrepreneur.
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15. Write features merits and demerits of a Company.
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16. Explain types of partners and write about partnership deed.
v ("> T| . bz 63J+..0T Fel+=, v [">ekcNeT> [ I e+<l] + >oT]+=
Je]+K+&l .

EEE@@



J.M.J.College for Women (A), Tenali- 522202

| Year B.Com (CBCS)., General Il Semester
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Unit-1:Depreciation
Meaning of Depreciation - Methods of Depreciation: Straight line - Written Down Value— Sum
of the Years' Digits - Annuity and Depletion (Problems).

Unit-11:Provisions and Reserves

Meaning — Provision vs. Reserve — Preparation of Bad debts Account — Provision for Bad and
doubtful debts — Provision for Discount on Debtors — Provision for discount on creditors -
Repairs and Renewals Reserve A/c (Problems).

Unit-111: Bills of Exchange
Meaning of Bill —Features of bill — Parties in the Bill — Discounting of Bill — Renewal of Bill —
Entries in the books of Drawer and Drawee (Problems).

Unit-1V: Consignment Accounts

Consignment - Features - Proforma invoice - Account sales — Del-credreCommission -
Accounting treatment in the books of consigner and consignee - Valuation of closing stock -
Normal and Abnormal losses (Problems).



Unit-V: Joint Venture Accounts
Joint venture - Features - Differences between Joint-venture and consignment — Accounting
procedure - Methods of keeping records (Problems).

Reference Books:

1. R.L. Gupta & V.K. Gupta, Principles and Practice of Accounting, Sultan Chand
2. T. S. Reddy and A. Murthy - Financial Accounting, Margham Publications.

3. S.P. Jain & K.L Narang,Accountancy-1, Kalyani Publishers.

4. Tulsan, Accountancy-I,Tata McGraw Hill Co.

5. V.K. Goyal, Financial Accounting, Excel Books

. T.S. Grewal, Introduction to Accountancy,Sultan Chand & Co.

. Haneef and Mukherjee, Accountancy-I, Tata McGraw Hill

. Arulanandam, Advanced Accountancy, Himalaya Publishers

. S.N.Maheshwari&V.L.Maheswari, Advanced Accountancy-I, Vikas Publishers.
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Paper -105  Principles of Management PPW :06 Hours

Unit-1: Introduction to Management
Management - Meaning - Significance - Management vs.Administration — Functions of
management —Leadership — Leader vs. Manager - Fayol’s Principles of Management.

Unit-11: Planning
Planning - meaning - significance —Steps in Panning - Decision making —Steps in decision
making process.

Unit-111:Organization
Organizing - meaning — Principlesof organization— Line and Staff Organization -Organization
chart.

Unit-1V: Delegation of authority
Delegation - meaning - elements - principles - difficulties in delegation — guidelines for making
delegation effective - Centralization vs. Decentralization

Unit-V:Staffing, Controlling, Communication
Staffing — selection procedure —Coordination - Control — meaning — Qualities of Good Control -
Communication Types - Barriers.

Reference Books

1. C.D.Balaji and G.Prasad, Business Organization and Management-Margham Publications.
2. R.K.Sharma&Shashi K Gupta, Business Organization&Management, Kalyani Publishers.
3. C.B.Gupta, Industrial Organization and Management, Sultan Chand.
4. Y.K.Bushan, Business organization and Management, Sultan Chand.

5. Sherlekar, Business Organization and Management , Himalaya Publications.
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Section—A
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7. £ed0DI<cTIA vO>+ HAT?

8. [1 X"© =J<™(NeTT vO>+ HAT?

9. 81 +80 & < [J>o(N..0T Ro+& +{ [0 |y (T+& .

10.| |0 A"[J<OT O 6In=+HK+& .

Section- B
Il Answer any two of the following 2x10=20M

11. £>80DI<6IA @ TTa<— < A" T, || | IYQ(T Fe]+HK+& .

12.10 63N "A3< [0 T >e\]c @<A . +J<ol]) +>+ |yl o(T+&L .

13. 3| ~I<6TA 1 £2)> I<™MOT ™ [x}— <1 1 @ (TTa<— Oyc... . 0T #(]
cHH(+&L .

Section - C

Il Answer any two of the following 2x20=40M
14. v~ [Jtol] 0 0 |0 < (0 0+ #lo(Te .60 1 e2)e>I<™( 2312w 6T+ | |
0 < (0 0+e..0 J<kz> | |0 o WUHD 0T, Oyc...... 0T ™[ |0 +& .
15. 680D I<6TA @ TTI<— . < A" - 0T, eT]o(TT | |0 | J[o(TOT Fe]+K
+&l] .
16.0 ¢ 1010 o(NiAa D 63 "A 80 N ™0 0T 3180 V| va = 3< (1 +>+35)n
vl o]0 |eToTTO~ #]c+HK+& .
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J.M.J.College for Women (A), Tenali — 522202
| Year B.Com (CBCS)., General Il Semester

Paper-106 Business Economics- 11 PPW : 06 Hours

Unit-1: Production and Costs: Techniques of Maximization of output, Minimization of costs
and Maximization of profit - Scale of production - Economies and Dis-economies of Scale -
Costs of Production —Cobb-Douglas Production Function.

Unit-11: Market Structure-1: Concept of Market - Market structure - Characteristics - Perfect
competition -characteristics equilibrium price - profit maximizing output in the short and long
run Monopoly- characteristics - Profit maximizing out-put in the short and long run - Defects of
Monopoly — Distinction between Perfect competition and Monopoly.

Unit-111Market  Structure-11:  Monopolistic Competition - Characteristics - Product
differentiation - Profit maximization- Price and output in the short and long - run — Oligopoly -
characteristics - Price rigidity - Kinked Demand Curve - Distribution - Concepts - Marginal
Productivity - Theory of Distribution.

Unit-1VNational Income And Economic Systems: National Income - Definition Measurement
- GDP - Meaning Fiscal deficit - Economic systems - Socialism - Mixed Economic System -
Free Market economy.

Unit-V Structural Reforms: Concepts of Economic liberalization, Privatization, Globalization -
WTO Objectives Agreements - Functions - Trade cycles - Meaning - Phases - Benefits of
International Trade - Balance of Trade and Balance of payments.

Reference Books:

1. Aryasri and Murthy, Business Economics, Tata McGraw Hill

2. H.L Ahuja, Business Economics, Sultan Chand& Sons

3. KPM Sundaram, Micro Economics

4. Mankiw, Principles of Economics, Cengage Publications

5. Mithani, Fundamentals of Business Economics, Himalaya Publishing House

6. DAR Subrahmanyam &V Hari Leela, A Text Book on Business Economics, Maruthi
Publishers.

7. A.\V. R. Chary, Business Economics, Kalyani Publishers, Hyderabad.



J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)
Advanced Accounting — Il B.Com General& Computers

11 SemesterSyllabus

Max.Marks:70M
Objectives:
1.To appraise the students about the application of accounting knowledge in special business
activities.
2. To impart the skills of preparation of final accounts of non-trading concerns,partnership,
organizations.
UNIT — I: Accounts from Incomplete Records
Single Entry: Features — books and accounts maintained -Recording of transactions-
Ascertainmentof Profit. — (Statement of Affairs method only).
UNIT - Il:Hire purchase and installment purchase system
Hire Purchase System - Features —Accounting Treatment in the Books of Hire Purchaser and
Hire Vendor - Default and Repossession - Installment Purchase System - Difference between
Hire purchase and Installment purchase systems - Accounting Treatment in the books of
Purchaser andVendor.
UNIT - 111: Accounting of Non-Profit Organizations
Non-Profit entities — Features of nonprofit entities — Accounting process Preparation of
summaries Receipts and Payments Account meaning and special features — Procedure for
preparation — usesand limitations.
Income and Expenditure Account—features procedure for preparation — preparation of Balance
Sheet.
UNIT- IV: Partnership Accounts |
Legal provisions in the absence of Partnership Deed Fixed and Fluctuating Capitals —Preparation
of final accounts. Accounting Treatment of Goodwill and Admission of a partner.
Accounting treatment of Retirement and Death of a Partner Dissolution of Firm (Excluding Sale
to Firm, Company and Amalgamation) — Recording of partnership transaction and preparation of
final accounts using computers.

Books Recommended:
1. Advanced Accounting-R.L.Gupta,M.Radhaswamy ,Sultan Chand & Sons, 12" Edition-
1998
2. Financial Accounting- Dr.SakshiVasudeva,Himalaya Publishers-2008
3. Financial Accounting- S.P.Jain, K.L.Narang, Kalyani Publications -2009
4. Financial Accounting — K.VV.Kumar, K.S.R.K.Prasad, Jai Bharat — 2009

Unit wise Weightage 1Marks 10Marks 20Marks
Theory Problems Problems
Unit | — Single Entry System 2 1 -
Unit Il — Hire purchase & 2 1 -
Installment System
Unit Il = Non-Profit 3 - 1
Organizations




Unit IV — Partnership Accounts | 3 1 2
Admission or Retirement and
Dissolution

Total 10 3 3

J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)

Advanced Accounting — I1B.Com General, 111 Semester

Model Question Paper
Time:3Hrs. Max.Marks:70M

Section-A

I.  Answer all of the following. 10x1=10M
1. Write any two features of single entry system.

O +{[ |0 <0 TN 3< (0 0eTT @ TTd<— Ro+& 1 T . I< A" T |yl o(TTeTT?

2. Differences between Balance Sheet and Statement of affairs?
06— vio 0O o |0 { Y, ekec] "6T hyl~d< @< e ™&T Tyl (T
TeTT?

3. What are the differences between hire purchase method and installment method?

v<l d=0T>p . T |0 <0 Ne=d [yl oTT< .. |0 <0 N=d[ >e.. Ro+&0 T ™
& Ty o(TTeTT?

4. Define partnership?

v [">exceT<>eTTOT [ 63n=+|_ veTT?
5. Whatis goodwill?

>eT&[ A vO>+ HAT?

6. What is fixed capital and fluctuating capital?
863 €TV ..< (11 0eTT, [ &—BoIeTT..< (1 0[] <] M™T .. T Je]+K+&
0 ?

7. Whatis non-trading organization accounts?

U ©Bc#e™(6T 80 +811 & KM - T vo>+H [3T?

8. Whatis donations and subscriptions?

Jol ] =" . T#+<1 . T vO>+ HAT?
9. Whatis partnership deed?

v [">excneTo [ |1 e+<] €TT vO>+ HJAT?

10. Write any two differences between receipts and payments a/c and income and expenditure a/c.



e80 N T##'+0 v KMO @< 0 <1 (T e<>@(T.. KM 63T >e .. = Ro+&

0T ™ & . TIe]+HK+&L 2
Section - B
Answer any Two of the following 2x10=20M
. Reddy keeps his books by single entry system. On 01-04-2005 his financial position was as
follows:

Rs. Rs.
Cash in hand 1,250 | Cash at bank 2,000
Stock in trade 7,500 | Fixtures 350
Sundry debtors 9,800 | Plant 15,100
Sundry creditors 9,000 | Drawings 5,900
On 31-03-2005 his financial position was as follows:

Rs. Rs.
Sundry Creditors 7,500 | Plant 18,100
Fixtures 320 | Debtors 13,300
Stocks in trade 14,000 | Cash in hand 1,150
Bank overdraft 3,600

You are required to prepare a statement of profit or loss and closing statement of affairs.
ol <0 ™(O |0 vdl |+.-.0T 0 +{[ |0 <0 TN 3< (0 0+t 0 63Nc—"80 T|+~.
1 4 20040 0 wlT 0 1@< |0 16— | A+~ 3< (T +5£ [ +~.

#l=tz0>e<1 T 1250 V'+®L oz O>e<] T 2000
eo3 /0|0 v .~ 7500 ] —I<cST 350
o3ITAl >e801 T| .. 800 B'+>T 15100
cITA<] ™( -~ T 9000 i) +™MOyl & A+ T 5900
31 3 2005 HO {[ 0 1@< |0 16—D<= | [+~ IF< [0 4>+ 0 +~.
oITA<C ™(~ T 7500 Bc'+>T 18100

I —J<co3T 320 o3TAl >e80 T| . T 13300
eoJ 0|0 v I .1 14000 #l=tzO>e<] T 1150

U+ ®<0 >ecW | & [tl.. 3600
("o (1 8ol ... [ yl~d<eerec] "ol o [ yled< ™(o(No ST #lo(TTeTT.

. M/s A and B purchased on 1* Jan 2003 from X and Co. a machine whose cash price was Rs.7450.
Payment was to be made in four installments of Rs.2,000 each the first payment to be made
immediately and the other three at the end of 2003, 2004, 2005. Interest as taken to be 5% p.a.
depreciation is 10% p.a. on the diminishing value. Give the Ledger A/c in the books of A & B on
Hire Purchase System.

UBe] 1 2003 0 J<+(1 81 w1 63T v<[Ni=0T>p -~ T [ <1 Nt (T
™ [ v+&0 Jp OT+&0 J=0T>=..T #JxcoIT.0>e<] T< [T 63T 0IV.7,45
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0. 0>e<] T #*+0 v 63V.2,000 # ¢ | vO HI . T>eT yll oTV< ..t #*'kc
|63T. wlTT<O { [y oTT< ™(J<] A#l++0 v >t v ["Ixkc| 6IT. ™M(cIT
gl <yl oTV< 0T 2003, 2004, 2005 t #|*'cc| 63T, €& f 811 +£™(0c
00 Jf 5% ™(cIT>ed . | J<eTJ [0 AL <0 M= |0 JtoT+ 80 +e™(Ool) [
J[10% 2000 exT #lp(T+&0 . <+ |0 vl |+ b =("... |0 <0 TN Thyo
o(TTeTT.

Sarma and Sastry are running a partnership business on the following terms.
i They are to share profits and losses in the ratio of 2:3.
ii. Interest on capital is to be allowed at 5% per annum.
iii. Interest on drawings is t be charged at 6% for the whole year.
iv. Sarma who is also acting as a manager of the firm, is to get a commission of 3% on
profits after charging such commission.
Partnership business resulted in a profit of Rs.55,600 before adjusting partner’s transactions.
Capital balance of partners are Rs.50,000 and Rs.40,000, respectively. Their drawing amounted
to Rs.5,000 and Rs.8,000 respectively. You are required to prepare profit and loss appropriation
account for the year ended 31 December, 2002 and Partners capital accounts, when
i Capitals are fixed and
ii. Capitals are fluctuating.

| df+~ 0 6I™(T ~.[] 1 Z)o3, 28— [1 A< v [">excneTw> e>pco
J+0&1) T| vKTHLI [ o3T.

1. "o (0 Byc....0T 233 [ o] e<| rz | HKTJ oyl *.

2. €TV < (0 08 [[Te& f 5%yl 1< #6>T0 [T o [+ *.

3. k)+™Myl &0 Jtn 0 [T e& f 6% wiil 1) I< #0>T0 ([T o [+ *.

4. B)o3I0 @< 80 +£™(Ocl [ J[ 9™(+ 63V.5000.

5. 81 +80 @y THIUcIT>+ eevect] 180 TI1o0 (16— J[ vaTe+{ [ J<3Tw
0 HO ™(/Z4+=0 ™(cI Tyl ™( ¢"o (7.0 [13% J<MTwol HO [0yl s

81 +80 @B<T v [">e8 T/ . el . 80 oITNV">TO< eTT+< T o

3.55,600 1o (11 + gzt~ v [">e8 1 T| . eTV < (1101 ~.A-T ecIT

>+ 63.50,000, 63V.40,000. 31 12 2002 ™ o v+™(cTo JT<> 8L +£™(OcL]

O df bro (0 0yc.... . T 63T >+ 63V.50,000, 3IV.40,000. w ] k) +™K

i & J£..T eoITS >+ 63V.5,000,63V.8,000. 31 120@ ™ g v+™(eT

OJT 871 +™(Oc 11 Jf +"0 (11 0w ... . T 3T @ NL™( Y™ ¢T]o(TT 6—

BoTIeTV . .< (0 HD . |0 <0 Nerz v (">e80 Tl o eTV < (0 HO - Y'™D T

™(o(NoIT #lp(T+& .
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Section - C

Answer any Two of the following 2x20=40M
The following are the Receipts and Payments account of Warangal Cricket Club for the year
ending 31* December,2006
Rs. Rs.
To Opening Balance By Establishment expenses
Cash 400 | (Rs.1,400 for 2006) 16,000
Bank balance 20400 | By Telephone charges 600
To Subscriptions (including Rs.750 By Purchase of Books for library 14,200
for 2006) 24,400 | By Rent 5,000
To Rent for Hall 1,600 | By Travelling 200
To interest on investments 1,000 | By Stamps, Stationary 800
To Donations 12,500 | By Closing balances:
Cash 300
Bank balance 22,600
60,300 60,300

The following additional information is provided.

i On 01-01-2005, the club held Government Securities fetching 6% interest for Rs.40,000

ii. The values of books in library was Rs.25,000 on 01-01-2005.

iii. Hall rent is still receivable for Rs.400 and office rent outstanding is Rs.1,000 on 01-01-
2005 Rs.250; On 31-12-2005 Rs.400

iv. Prepare Income and Expenditure account and the balance sheet relating to the year.

eoTF+>0 A | J[£ A I T®OW 131 &1 11 8+ 6IT 2005 ™ o v+™(eTe]T
o 8 +e™(Oc] [ [ &80 V=)0 U ##'+0 v 1Y ¥eTe [ en &1 +~.

Dr. &8 N=J)0 U #lw4 v Yo
Cr.
ed0 V=)0 U o3V, #lv+HO v T o3V.
TolBcoI+uv (10 0 ./ By
0>e<| T 400 | LxS..._'ot \|1LT+2T Ko 16,60
V> +D<] 20,40 | STc. T 0
To #(+<1 - T(2006 J[ #4+~0 & 0 | (2006.[ #le~0 63V.14 | 600
SV.750™ o 801 ¢ ") 24,40 |00 ™ 8L ¢[1 ") 14,20
Tog! " T v<M 0|BY - 0
Toll [2T...0 &1 T T [[Te&]| 1,600 ‘gi*m JHO KoSTT) < 09
To3doll =" . T 1,000 200




12,50 | |2 v |+ Jp0T>p | 800
0|..T

By v< (N 300

Byl|J o(VAKoITc.. T | 22,60

By 0

T kc..HI v T, 08 0l T

— _

60,30 | BYeTTZ+I v .1 T | 60,30

0 O>e<] T 0

L <>+D<[]

~>eTe v<[J 0|0 v 8 eV# o3+ en] & O~.
1. 1 1 20056 J<'uA e<] 11 63V.40,000 3. Te #)7 8 6% & f 801 +f
c~+HE 0 v (0 T™(A O 8@<A<>]{Y..T 0 HO [ oTT.
2.1 120050 t=[110 4 [0 ve |+ 3. Te 63V.25,000.
3. ¢ ™ T v< N0 +0<0T ol .. 8~&T3V.400 # [+ +#(c ".5—0 v<
[ 63V.1000.
4., k... v T, [06...0001 0] -.m..T.

1 1 20056 63V.250,31 12 2005 6 63V.400 | |1 801 T ™( 81 +e™(0ol] [1 Jf
8L 411 4~t= 1 < (T e>@(N Y™ (1 6—| v O o |0 {Y... ™@(NoIT #]
o(TTeTT.

15. A and B partner’s in a business share profits and losses in the ratio of 3:1. Their Balance Sheet as
on 31-12-2005 was as under:

Rs. Rs.

Creditors 37,500 | Bank 22,500
General Reserve 4,000 | Bills receivable 3,000
Capitals: Debtors 16,000
A 30,000 Stock 20,000

B 16,000 46,000 | Furniture 1,000
————————— Buildings 25,000

87,500 87,500

On 01-01-2006 they admit C on the following terms:

a. That C pays Rs.10,000 as his capital for 1/5 share of profits

b. That goodwill account be raised to Rs.20,000

c. That stock and furniture be reduced by 10% and provision of 5% be made for doubtful
debts.
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d. That the value of buildings be appreciated by 20%
e. That the capital accounts of all the partners be readjusted on the basis of their profit sharing
arrangements and any additional amount to be credited to their current accounts.

Prepare Revaluation account and capital accounts and the opening Balance Sheet of the firm.

0 <yl oPcoT+rz v (">e80 T .. T>+ 0 A&T](TT B . T t"v ["0y<
0T 331 0 o el b [0 HKTO< HO [ BT2 2005 0wl 10 65— v
00 0 {2+~ 3< (0 4+ 0 +~.

vo O . T o3V, |0 80 Tl .. T o3V.

oITA<] ™( - T 37,500 | L"<>+®<" 22,500

ke< [0 63A JUcST 4,000 | €80 N T - T'.. 3,000

A T 16,000

eTN. < (0O HT ~T 30,000 | cITA|l >80 T} .. 20,000

A 16,000 | T 1,000

B 8§ o3T®< 25,000
000 Mo

1o rD eHl ..T N

87,500 87,500

1 1 20060 w1 63ITC L | d[+~ @1 6I™(T. @< tel] &1 #loITc®<] HI
1 oJ3T.
1. 15e+™(T yl {"®< 03V.10,000 eTT..< [T 8+ ™yl *,
2. 63V.20,000.. 0T >eT& It Y™ 80 [ o—...+#1] *.
3. 80 oITO<, |1 11 40 #oPr [T 10% ™(LZA6D [ v Y. [ ~ [ 5%
~ol] e>T #Jp(V+*.
4. v [">e80 T| ..4<0 1 €TV < [0 HO 0Ty ] "0 (1 Byc.... 0 ol e
| 1|0 Jt63+ 80 oITMV" - T #16— v< 0+>+ 0 00 wlTT™O | 0T yi
] I<Ro+2T Y'™[ - @< eT[U+#] =
(N VOSTIV ">+ 4<0 Y™ T, TV .< (11 0 Y™ T, v [">excneT<> [
S—I| vio O |0 {[... M(@(NoIT #Jo(TTeTT.
Sri Ram, Jai Ram, Sita Ram are partners in a business, sharing profits and losses in the ratio 3:2:1.

Their Balance sheet as on 30™ June, 2002 was as follows,
Balance Sheet as at 30-06-2002

Liabilities Rs. | Assets Rs.

Sundry Creditors 2,200 | Cashin hand 1,200




Reserve 12,000 | Cash at Bank 2,000
Capitals: Sundry debtors 18,000
Sri Ram 20,000 | Stock in hand 14,000

Jai Ram 20,000 | Machinery 12,000

Sita Ram 20,000 | Factory Building 28,000
75,200 75,200

On that date Sita Ram retires from Business. It is agreed to adjust the value of assets as follows:
a. To make a provision of 5% on Sundry Debtors for doubtful debts.

b. To depreciate stock by 5% and machinery by 10%

c. Factory building to be revalued at Rs.30,200.

Show the revaluation account and the partner’s capital accounts and prepare the Balance Sheet
of the continuing partner’s as on July 1st, 2002.

"o (T 0yc.....0T 33251 [ o] e<| ta [ +H(TO< +>TO0 | oo wil T, Xo[1
ol Wi T, @™ o) wiI T ~.Tu [">e80 T|..T.30 6 2002 HJ & T [ ] 6—
L vio O o0 {0 a4+~ 3< (T Fotee,

30 6 2002 HO {([0&6—| viooO .o {[...

vio O ..T o3V. /080 T|..T o3V.
oITA<] ™( - T | 3,200 |#l=}tz 0>e<1 T 1,200
JUSITA ~( | 12,000 | 0">+®< {0 2,000
eTV..< (00 H .. >e<(] T 18,000
T 30,000 | cITAl >e8[1 T 14,000
| oo WO T 16,000 | .. T 12,000
Xollotl wiI T | 20,000 | #l=tz k... ®< | 28,000
O™ ol yiI T O ]
™o T ]

75,200 | B cI<.. 4T 75,200

v (1 b+

1 6pE80O™ o] yiI T yll &PpcoI+ 0T+& JoIAT+HH & T 80 T| .~ 3.
TeOT U | [+~ 3< (T +> 80 oITNU"T #lo(T>& 0 I [ 630 oTT+AL
oJ3T.
1. 80 +2Jo(N™(0 U< v Y R[] 33< (0 oITAl >80 T .00 |1 5% =0
0 e>T #lp(Ner=.
2. k... @< 5%p(T+H ™ ~.T 10% ™(cIT>eT<] .. =o7] e>T #Jp(*.



3. B cord<.. v (0 eHO 0 0 63V.30,200 >+ evOcIV H7e>+.<0 #lo(
Ve,
0 vOoTIVI ("¢>+1<0 Y™ v (">e|d v| . €TV < (0 HD o Y™™ T
neoll 1,2002 HO { [y BcoTI+ra J=0kc>eT™(TOL v [">e80 T
| T8~ vj0 O o |0 {[... ™(@(NoIT #Jo(TTeTT.



J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)

Advanced Accounting — Il B.Com General& Computers

IV SemesterSyllabus

Max.Marks:70M
Objectives:
To develop the skills of recording of transactions relating to issue of shares and debentures,
branches and departments manually and using computers.
UNIT I : Branch Accounts:
Dependent Branches: features —Books of accounts — methods of accounting of dependent
branches —Debtors System, Stock and debtors system —Recording of transaction relating to
branch accounts using computers.
UNIT 2: Departmental Accounts:
Departmental Accounts: need, features, Basis for Allocation of Expenses, treatment of Inter
Departmental Transfer at cost or Selling Price Treatment of Expenses that cannot be allocated —
Preparation of departmental profit and loss
UNIT 3: Company Accounts: Shares
Issue of Shares at par, Premium and at Discount Forfeiture and Reissue of Shares Rights issue
(Theory Only) Recording of transactions relating to issue of shares using computers.
UNIT 4: Company Accounts: Debentures
Issue and Redemption of Debentures- Redemption out of profits —sinking fund method.
Recording of transaction relating to issue and redemption of debentures using computers
Underwriting of Issue of Shares(Simple Problems)

Books Recommended:
1. Advanced Accounting-R.L.Gupta,M.Radhaswamy ,Sultha Chand & Sons, 12" Edition-
1998
2. Financial Accounting- Dr.SakshiVasudeva,Himalaya Publishers-2008
3. Financial Accounting- S.P.Jain, K.L.Narang, Kalyani Publications -2009
4. Financial Accounting — K.V.Kumar, K.S.R.K.Prasad, Jai Bharat - 2009

Unit wise Weightage 1Marks 10Marks 20Marks
Theory Problems Problems
Unit | — Branch Accounts 2 1 1
Unit Il — Departmental Accounts 2 1 -
Unit Il = Company Accounts: 3 - 1
Shares




Unit IV — Company Accounts: 3 1 1
Debentures

Total 10 3 3

J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)
Advanced Accounting — 11B.Com General, IV Semester

Model Question Paper
Time:3HTrs. Max.Marks:70M

Section—-A

I.  Answer all of the following. 10x1=10M
1. What are preference shares and equity shares?

v~ [d<o |0 vyl {7 T eT]o(TT k< [ 6IA wi {" . T vO>+ HI3T?
2. Whatis forfeiture?

yi {".. U0 v| ve>+ HAT?
3. Whatis debenture?

&1 Vo 6IT vO>+ HAT?

4. How the allocation of costs to different departments?
F33< (0 630+ eo(N.0T I3< [T V'>+. . @O< = 3< (1 4>+ = {"6TTkC
| 63T?

5. Whatis bad debts and bad debts reserve?

oll U v JY TeT](TT o) L v"JY.. [ ~( vo>+ HAT?
6. What are the types of capital?

eTV..< (11 0 63t T ™[ TeeTT?
7. Whatis meant by independent branches?

80 A™M(+] ™( [ v'4N . T vO>+ HFT?
8. Whatis meant by issue of shares by premium?

| |©3TQ(TeTT.. ™ g il {” X"d vO>+ HJAT?

9. Whatis Par value?



10.

11.

12.

wl {" 80 €TeTV..<>eTT vO>+ H[AT?

What is meant by stock debtors system?

80 6IT@®<T [ TTAl>e80 T| .. |0 <0 M vo>+ HJAT?

Section-B

Answer any Two of the following. 2x10=20M

A Company issues 1000 debentures of Rs.1000each pass the necessary entries for the issue of

Debentures in each of the following cases:

a. Debentures issued at Rs.950 repayable at Rs.1000

b. Debentures issued at Rs.950 repayable at Rs.1050

c. Debentures issued at Rs.1000 repayable at Rs.1050 and

d. Debentures issued at Rs.1050 repayable at Rs.1000 you may assume that all the amounts
due on the issue of debentures have been received.

0 J< <40 | |0 d=—ad<—{ [ 63V.1,000/ 3..Te >e.. 100 & vo+#(cT'OT X
" #I—+~, 00 80 +< o] ®z.& vor oI X' 80 +0 +~+=0={"...
0 <0 TN T |y (TTeTT.

. & vVo+HK 63T 63V.950/ I X' #16— 63V.1,000/ <] #(*'80 T|er
>'6TT™,

& v HKGST 63V.950/ I X' #16— 63V.1,050/ <)L #l+'80 Tlor
>'TT™ |,

§—. &1 vVo+HKoIT 63V.1,000/ J[ X'V #)6—63V.1,050/ <)L #+'81 T
|00 >'6TT™],

& . & voH#H(6IT 63V.1,050/ [ X" #16— 0TI3V.1,000/ <]£ #l+'860 T
|00 >'6TT™],

X' #16—0 & vo+HK oI [T ol £..6—0 w TT™(|+ e=c+<1 [ v ["I+K+

&l .

Rs. Rs.
Stock at Branch on 01-04-2000 30,800
Debtors at Branch on 01-04-2000 16,500
Cash at Branch on 01-04-2000 500
Goods supplied to Branch 1,51,200
Remittances by Branch
Cash sales 10,500
Cash received from debtors 1,57,740

----------- 1,68,240



Cash sent to the Branch

Salaries 7,400

Rent 2,400

Petty cash 3,000
12,840
Stock at Branch on 01-04-2000 23,150
Debtors at Branch on 01-04-2000 50,450
Cash at Branch on 01-04-2000 750

Show Branch A/C in the Books of H.O.
HO o(TT&D T |0 <0 6WP0®O< «<c3ITI0 <tz |0 < (T 0 Jtoll «>..o(TeTT #l
H(O tz 0|0 ©80 T +~.. 31 eV]c 2001 ™ g v+™(y [ T—0 801 +™(0ol] [ J[
[0 < (00 Jtol] <> . (TH v"+=™ p #15—0 ecrec] ™Mol ~.T|Jd[+~0 enT &
] foTT.
o3V, o3V,
01 04 20000 | v"+=¢e< 101 07 81 cITO 30,800
01 04 20000 | v"+=1 TTAl>e87 T| .. T
16,500
01 04 20000=.."03 O>e<[] T 500
| v"+=d( 80 |1 "@WT #J6—0 811 6ITO®<
1,51,200
| 0"+= OT+& | +—03
0>e<[ | T veTl] J£.. T 10,500
) TTA >e81 T| . TOT+&1 &8 V.. T 1,57,740
1,68,240

| v'+=d( [ +—0 0>e< ] T
g™ T 7,400
v<M 2,400
=063 0>e< | T 3,000
12,840
31 01 2001 0| v"+=¢e<] N1 00 8 6ITO]
23,150
31 03 20010 | v"+=0 TTA >e87 T| .. T
50,450
31 03 20010 =.."c3 O>e<1 T 750
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13. From the following particulars given by M/s Ravi Chemicals and Pharmaceuticals prepare a
Departmental, Trading and Profit and Loss account for their two departments, viz, Chemicals
Department and Pharmaceuticals Department for the year ended 31-03-2006

Opening Stock Rs.
Pharmaceuticals 5,000
Chemicals 15,000

Raw materials consumed (Chemicals) 36,000

Stores consumed 9,000

Wages:

Pharmaceuticals 3,600
Chemicals 6,000

Advertisement 1,500

Packing Expenses (Pharmaceuticals) 600

Office Expenses 4,800

Depreciation:

Factory equipment 3,200
Building 1,600

Sales:

Chemicals 18,000
Pharmaceuticals 90,000

Closing Stock:

Pharmaceuticals 6,000
Chemicals 12,000

You are also given the following additional information.

a. Pharmaceuticals are made of raw materials used by Chemicals department. The value of
such materials used during the year by Pharmaceuticals Department was Rs.2,000.

b. Pharmaceuticals making does not require any equipment.

c. Only 1/8" of the total area of building occupied by Pharmaceuticals Department.
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14.

yJ™MHD T

eT+<0 T..T 3,000
oIxco(THL .. T 6,000
|0 <0 T 1,500
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Section-C

Answer any Two of the following. 2x20=40M
Chandra Co. Ltd. Offered to the public 20,000 equity shares of Rs.100 each at a premium of
Rs.10 per share, The payment was to be as follows:

On application Rs.20
On allotment Rs.40(including premium)
On first call Rs.25
On second call Rs.25

Applications received total for 35,000 shares; applications for 10,000 shares were rejected;
those totaling 15,000 shares were allotted 10,000 shares and the remaining applications were
accepted in full. The directors made both the calls. One Shareholder holding 500 shares failed to
pay the two calls as consequence his shares were forfeited. 200 of these shares were reissued as
fully paid @ Rs.80 per share.
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. A Head Office in Madras has a branch at Nellore. The H.O. send goods at invoice price. It sends
goods 33 1/3% on cost. Find out the profit of the Branch on Stock debtor system.

Rs.

Stock on 01-04-98 (Invoice Price) 1,50,800
Debtor on 01-04-98 1,14,000
Goods sent to branch (Invoice Price) 6,70,000
Branch sales

Cash 3,10,000

Credit 3,74,000
Cash received from debtors 4,00,000
Bad debts 2,500
Discount allowed to customers 3,000
Expenses 67,000
Stock on 31-03-99 (Invoice Price) 1,34,800
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16. On 01-01-2003 Keerti Co. Ltd. issued 7% Debentures of Rs.6,00,000 with a condition that they
should be redeemed after 3 years at 10% premium. The amount set aside for the redemption of
debentures is invested is 5% Government Securities. The sinking fund table shows that
0.31720856 at 5% compound interest in 3 years will become Rs.1. you are required to write the
journal entries for recording the above transactions for three years.
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J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)
Financial Services-Banking — Il B.Com General, 111 Semester

Syllabus
Max.Marks:70M
Objective: To impart knowledge on Banking and Insurance concepts and to gain an insight on
Financial Services
Unit - I: Introduction to Financial Services
a. Meaning of Financial Services, Structure of Indian Financial System Importance of



Financial system for the economic development.(Financial and Banking system charts)

b. Definition of Bank, Functions of Commercial Banks and Reserve Bank of India.(Forms

of various accounts and deposits)

Unit - 11: Banking Systems and its Regulation

a. Banking Systems — Branch banking, Unit Banking, Correspondent banking, Groupbanking,
Deposit banking, Mixed banking and Investment banking. An overview ofbanking; Banking
Sector Reforms with special reference to Prudential Norms: capitaladequacy norms, income
recognition norms, classification of assets and NPAs;

Innovations in Banking -ATMs, E-Banking, Credit cards, Online & Offshore Banking,
etc.(working and operations)

Regional Rural banks, Cooperative banks, Micro Finance, Priority Sector Lending,Indigenous
banking, Role of NABARD, Development Financial institutions —SFC,SIDBI.

Unit - I11: Banker and customer, loans and advances:

a. Banker and customer definition and their relationship, types of customers and modes
ofoperations, procedure and precaution for opening an account, pass book & its features,Rights,
duties and obligations of the banker (Application forms for opening accounts,Cheque Books,
pass books, requisition slips for withdrawals and deposits, bankstatements,etc)

c. Types of loans and advances, principles of sound lending policies, credit appraisals of various
forms of loans and advances-modes of creating charges - lien, pledge ,mortgage and
hypothecation (Documents required for sanction of loans and advances).

Unit - IV:Negotiable Instruments:

Promissory Note and Bills of Exchange and Cheque, differences between them, types ofcrossing
the cheque, payment of cheque and consequences of wrongful dishonor,collection of local and
upcountry cheques, responsibilities and liabilities of collectingbanker and statutory protection to
the collecting banker.(Promissory notes, B/E, Crossedcheques-various modes)

Books Recommended:

New Country Publications

Financial Sector of India — Emerging Challenges , R.K.Uppal — 2009
2. Banking & Financial Market in India 1947-2007, Niti Bhasin — 2008
3. Banking Developments in India 1947-2007, Niti Bhasin — 2006

4. Baking & Insurance, Kalyani Publications - 2009

=

J.M.J.COLLEGE FOR WOMEN, TENAL.I::(Autonomous)

Business Statistics — Il B.Com General, 111 Semester

Syllabus
Max.Marks:70M



Objective: The objective of this paper is to impart knowledge on the application of statistical
tools and techniques in business decision making & use of MS-Excel in interpretation of
statistical data.

UNIT 1: Introduction to Statistics

Meaning, definition, importance and limitations of statistics. Collection of data-PrimaryAnd
Secondary data —(Sampling-Random-Non Random-Census)Schedule and questionnaire —
Frequency distribution —Tabulation Diagrammatic and graphic presentation of data using
Computers (Excel)

UNIT 2: Measures of Central Tendency

Definition Objectives and Characteristics of measures of Central Tendency TypesOf Averages —
Arithmetic Mean, Geometric Mean, Harmonic Mean, Median, Mode, Deciles,Percentiles,
Properties of averages and their applications. Calculation of averages using

computers.

UNIT 3:Measures of dispersion

Meaning, definitions, Properties of dispersion Range Quartile Deviation —Mean Deviation
Standard Deviation Coefficient of Variation.

UNIT 4:Skewness

Skewness definition Karl Pearson’s and Bowley’s Measures of skewnessNormalDistribution
Calculation of Dispersion and skewness using Computers.

Suggested Readings:
1. Statistics Problems & Solutions V.K.Kapoor
2. Fundamentals of Statistics D.N.Elhance
3. Business Statistics Aggarwal Bharadwaj, K.Raghuveer
Kalyani Publicatons — 2009

J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)
Taxation — Il B.Com General, 111 Semester



Syllabus

Max.Marks:70M
UNIT 1:
Income Tax Act 1961 — Important Definitions — Residential Status — Incidence of Tax Exempted
Incomes — Agricultural Income.
UNIT 2: Computation of Income from Salaries
H.R.A — Entertainment Allowance — R.F.A — Perquisites —Statutory Fund — Gratuity Fund —
R.P.F.
UNIT 3: Computation of Income from house property and Income from Business or
Profession
Standard Rent — Actual Rent — Fair rental value — elf occupied House —Unrealized Rent —
Interest — deemed to be let out
Deductions allowed — section 30-35E- Other Deductions — section 36- disallowed expenses —
section 40- Deemed profits — valuation of stock
UNIT 4: Computation of capital Gains and Computation of Income from other sources
Introduction — Transfer of capital Assets — Determination of cost of Acquisition of Assets and
cost of improvement — Procedure for calculation of capital gain — taxation of capital gains —
Exempted capital gains.
Taxable Incomes — Dividends, Lotteries, Crossword Puzzles Types of Securities — Allowed
Deductions, Disallowed Deductions — Tax free securities — Less Tax Securities — Tax free
commercial securities.
UNIT 5:Gross Total Income
Gross Total Income Deductions U/S 80, 80CC to 80U and problems — Assessment of individuals
— Computation of Tax — Income self -Assessment of Individuals and set off and carry forward of
losses — Collection and Recovery of Taxes — Tax deducted at source — Advance Tax — Format
and Filling of Form-16

Suggested Readings:
1. Income Tax — Jai Bharat Publishers-2009
2. Income Tax — Kalyani Publishers-2009
3. Elementary Income Tax — V.P.Gaur & D.B.Narang -2009
4. Taxation — Appolo Publishers - 2009

J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)
Financial Services-Banking — Il B.Com General, IV Semester

Syllabus
Max.Marks:70M
Objective: To impart knowledge on Banking and Insurance concepts and to gain an insight on
Financial Services
Unit I: Introduction
Definition/ Meaning of Insurance and reinsurance, Principles of Insurance, kinds oflnsurance,
advantages of insurance, globalization of insurance and insurance sectorreforms in India.



Unit 2: Types of Insurance and its regulation

a. Life Insurance — Practical aspects of Life Insurance, procedure for issuing a lifeinsurance
policy, issue of duplicate policies, nomination, surrender value,policy loans, assignment, revivals
and claim settlement.(Formats of types oflnsurance)

b. Non-Life Insurance-Types of products and scope of Fire Insurance, Marine Insurance,Health
Insurance,Social Insurance and Rural Insurance. Regulation of Insurance in
IndialnsuranceAct,1938 and IRDA 1999.(Formats of types of Non-Life Insurance)

Unit 3: Financial Markets:

a. Indian Money Market -Characteristics, Structure, composition (call and notice money, market,
treasury bills market, CDs, CPs, short term bill market, MMMFs and DFHI) problems and
reforms in Indian money markets (CDs,CPs, Treasury Bills)

b. Indian capital market composition and growth of primary and secondary markets, differences
between primary and secondary markets, capital market reforms and NBFCs in capital markets;
Stock Exchanges, NSE, OTCEI, Online Trading and role of SEBI.

Unit 4: Financial intermediates and Services:

Financial intermediaries and services: Merchant bankers, Mutual funds,Leasing companies,
Venture Capital Funds, Forfaiting, Loan Syndication, Factoring, Custodial Services, Depository
Services, and Depository Participants.(Documentation)

Books Recommended:

New Country Publications
1. Financial Sector of India — Emerging Challenges , R.K.Uppal — 2009
2. Banking & Financial Market in India 1947-2007, Niti Bhasin — 2008
3. Banking Developments in India 1947-2007, Niti Bhasin — 2006
4. Baking & Insurance, Kalyani Publications - 2009

J.M.J.COLLEGE FOR WOMEN, TENAL.I::(Autonomous)
Business Statistics — 11 B.Com General, IV Semester

Syllabus
Max.Marks:70M



Objective: The objective of this paper is to impart knowledge on the application of statistical
tools and techniques in business decision making & use of MS-Excel in interpretation of
statistical data.

UNIT 1:Measures of Relation - Correlation:

Meaning, definition and use of correlation — Types of correlation Karlpearson’s Correlation
coefficient — Spearman’s Rank correlation - probable error - Calculation of Correlation by Using
Computers.

UNIT 2: Measures of Relation — Regression:

Meaning and utility of Regression analysis comparison between correlation and Regression —
Regression Equations Interpretation of Regression Coefficient.Calculation of Regression by
Using Computers.

UNIT 3:Analysis of Time Series & Index Numbers:

Meaning and utility of time series Analysis - Components of Time series— MeasurementOftrend
and Seasonal Variations — Utility of Decomposition of Time Series-DecentralizationOfData -
Calculationof trend and seasonal variations using computers.

UNIT 4: Index Numbers

Meaning, Definition and Importance of Index Numbers- Methodsof Construction of Index
Numbers — Price Index Numbers — Quantity Index Numbers —Tests of Adequacy of Index
Numbers — Deflating Index Numbers — Cost of Index NumbersLimitationof Index Numbers.
Calculation of index numbers using computers.

Suggested Readings:
1. Statistics Problems & Solutions V.K.Kapoor
2. Fundamentals of Statistics D.N.Elhance
3. Business Statistics Aggarwal Bharadwaj, K.Raghuveer
Kalyani Publicatons — 2009

J.M.J.COLLEGE FOR WOMEN, TENALI::(Autonomous)
Taxation — Il B.Com General, IV Semester



Syllabus

Max.Marks:70M
UNIT 1 : Introduction
Taxes — Meaning — Need for and Rationale of taxes — Direct and Indirect Taxes Constitutional
Provisions on Taxation — Union List -State List — Tax Rates — Blanket Rate
Method — Slab Rate Method — Surcharge — Cess — Progressive v/s Regressive Taxes. — An
Overview of Taxation System in India.
UNIT — II: Wealth Tax
Wealth Tax Act 1957 — Charge of Wealth Tax — Valuation Date — Location of Assets- Assets
— Meaning — Deemed Assets — Net Wealth — Computation of Net Wealth — VValuation of Assets-
Return of Wealth and Procedure of Assessment — Time Limit for Completion of Assessment.
(Including Problems)
UNIT — I11: Sales Tax
Central Sales Tax —: Definitions Dealer, Declared Goods, Place of Business, Sale, SalePrice,
Turnover — Inter State Trade or Commerce — Computation of Taxable Turnover- Assessment and
Returns under CST Act (Including Problems)
APVAT Act, 2005 — Statement of Objectives and Reasons — Definitions: Business CasualTrader,
Dealer, Input Tax, Output Tax, Place of Business, Tax Invoice, Total Turnover,Turnover Tax. —
Computation of Taxable Turnover — Registration Procedure (IncludingProblems)
UNIT - IV: Service Tax
Service Tax Act, 1994 — Introduction — Meaning of Service — Classification of TaxableServices
— Valuation of Taxable Services - Registration — Assessment Procedure.
UNIT - V: Central Excise & Customs
Central Excise Duty — Definitions —Types of Duties —Classification(only Theory)Customs Duty
— Important Definitions — Goods, Import, Export, Importer, Exporter,Bill of Entry Import and
Export Procedure(only Theory).

Suggested Readings:
1. Income Tax — Jai Bharat Publishers-2009
2. Income Tax — Kalyani Publishers-2009
3. Elementary Income Tax — V.P.Gaur & D.B.Narang -2009
4. Taxation — Appolo Publishers - 2009
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J.M.JCOLLEGE FOR WOMEN, TENALI (Autonomous)
lll B.Com General
Semester -V
Elective - |
Advanced Corporate Accounting
P.P.W(4+1)
Unit — I: The Accounts of Holding Companies
The nature of holding companies — Legal requirements for a holding company — Schedule VI of
the Companies Act and subsidiary companies — Preparation of consolidated balance sheet —
cancellation of investment account — minority interest- cost of acquiring control or goodwill —
capital reserve- preference share capital in subsidiary companies — debentures in subsidiary
companies (including problems related to the single subsidiary company).

Lab: Computation of problems using Excel/Accounting packages.
Unit - II: Liguidation of companies

Scope, contributory preferential payments, preference dividend, Statement of affairs and
deficiency/surplus account. Liquidators final statement of account, liquidators remuneration,
receiver for debenture holders, list ‘B’ contributories(including problems).

Lab: Computation of problems using Excel/Accounting packages.
Unit - lll: Human Resource Accounting

Human Resource Accounting: Definition, objectives, approaches, assumptions, advantages,
limitations of HRA, HRA in India. Historical cost accounting, Replacement cost method,
opportunity cost method.(theory only).

Suggested Readings:



R.L.Gupta, M.Radhaswamy : Corporate Accounting, Sultan Chand
M.A.Arunandam, K.S.Raman : Advances Accounting, Himalaya
Tulsania: Advanced Accounting, Tata Magrahills publications

Jain &Narang : Corporate Accounting, Kalyanipublilcations
S.M.Shukla: Advanced Accounting, SahityaBhavan.
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J.M.JCOLLEGE FOR WOMEN, TENALI (Autonomous)
Il B.Com General
Semester - VI
Elective - |
Advanced Corporate Accounting
P.P.W(4+1)
Unit — I: Accounts of Electricity Companies (Double-Accounting System)

Meaning of double-account system, revenue account and net revenue account, capital account
(receipts and expenditure on capital account) and general balance sheet, Replacement of an
asset. Important provisions of Indian Electricity Act 1910, Electricity supply act 1948 and the
Companies Act 1956 — Formats of relevant accounts — calculation of reasonable return and
disposal of surplus. Preparation of net revenue account and Balance sheet (including problems).

Lab: Computation of problems using Excel/Accounting Packages).
Unit - II: Accounting for price level changes (Inflation Accounting)

Introduction, limitations of historical cost accounting, methods of accounting for price level
changes — preparation of income statement and balance sheet under current cost accounting
(CCA). (Including problems.)

Lab: Computation of problems using Excel/Accounting Packages).

Unit — lll: Social Responsibility Accounting



Meaning, Nature of social responsibility, need, objectives, accounting concept and objectives of
social responsibility, indicators of social performance(theory only).

Suggested Readings:

R.L.Gupta, M.Radhaswamy : Corporate Accounting, Sultan Chand
M.A.Arunandam, K.S.Raman : Advances Accounting, Himalaya
Tulsania: Advanced Accounting, Tata Magrahills publications

Jain &Narang : Corporate Accounting, Kalyanipublilcations
S.M.Shukla: Advanced Accounting, SahityaBhavan.
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J.M.JCOLLEGE FOR WOMEN, TENALI (Autonomous)
Il B.Com General
Advanced Corporate Accounting
Semester -V
Section—-A
Time : 3Hrs. Max.Marks:70
. Answer All of the following. 10x1=10M
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Section—C
. Answer any Two of the following. 2x20=40M
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Advanced Corporate Accounting
Semester - VI
Section—-A
Time : 3Hrs. Max.Marks:70

I Answer All of the following. 10x1=10M
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Section-B
Il. Answer any Two of the following. 2x10=20M
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Section—-C
lll.  Answer any Two of the following. 2x20=40M
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J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

Il B.Com General & Computers
Auditing
Semester -V
PPW:5
Objectives: i) To impart knowledge pertaining to basic concepts of Auditing
ii) To Acquaint oneself with Auditing procedure and report writing
Unit —I: Introduction to Auditing

Meaning-definition-evolution-objectives-importance.
Unit-1l:Types of Audit

Based on ownership (Proprietorship, Partnership, Companies, Trusts, Cooperative Societies,
Government Departments) — Based on time (Interim, Final, Continuous, Balance Sheet)- Based
on objectives (Independent, Financial, Internal, Cost, Tax, Government, Secretarial).

Unit - lll: Planning of Audit and Control



Auditor: Qualifications and disqualifications-Qualities-Appointment and reappointment-
Remuneration-Removal-Rights-Duties-Liabilities.

Audit planning: Engagement letter- Audit programme-Audit notebook-Audit papers- Audit
workbook-Audit contents- Audit markings- Internal check- Internal control- (Sales,Purchases,
Fixed assets, Cash bank payroll)-Accounting controls and sampling in Audit.

Lab work: Preparation of Audit programme for an organization.

Unit -IV: Vouching

Meaning, Vouching of cash Trading transactions-Investigation, Verification and Valuation of
assets and Liabilities-Difference between Vouching, Investigation, Verification and valuation.
Lab work:Vouching of cash book of a local business unit

Reference Books:

1. Contemporary Auditing : kamal Gupta
2. Practical Auditing : Spicer& Pegler
3. Principles and Practices of Auditing :Jagadish Prakash
4. Principles of Auditing : Ghatalia
5. Business Correspondence and report Writing: Tata M. Graw Hill
6. Business Correspondence & Report Writing : UrmilaRai& S. M. Rai
7. Business Communications and Report Writing : Kalyani Publications
8. Auditing : N.D. Kapoor
J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)
lll B.Com General & Computers
Auditing
Semester - VI
PPW:5

Objectives: i) To impart knowledge pertaining to basic concepts of Auditing
ii) To Acquaint oneself with Auditing procedure and report writing
Unit-I: Audit of Institutions

Partnership-Manufacturing and other Companies-Non trading concerns.

Unit -lI: Audit Report



Contents-Preparation of Audit report-Fair report-Qualified report.

Lab Work: Collection of Model Audit Reports from Local Auditor and Preparation of Similar
reports.

Unit —lll:Report writing

Business Correspondence and Report writing: Basic principles-Business letters.
Unit —=IV: Business Reports

Structure-Preparation of Routine reports and special reports.

Lab Work: Drafting of model business letters and Preparation of Business reports.

Reference Books:

1. Contemporary Auditing : kamal Gupta

2. Practical Auditing : Spicer& Pegler

3. Principles and Practices of Auditing : Jagadish Prakash

4. Principles of Auditing : Ghatalia

5. Business Correspondence and report Writing: Tata M. Graw Hill

6. Business Correspondence& Report Writing : UrmilaRai& S. M. Rai

7. Business Communications and Report Writing : Kalyani Publications

8. Auditing :N.D. Kapoor

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)
lll B.Com General & Computers
Auditing
Semester -V
Time : 3Hrs. Max.Marks:70
Section—-A

. Answer all of the following. 10 x1 = 10M

1. What are the advantages of Auditing?



O &0 {[+ox e <o BT| |0 o WUHD H3IAT?
2. What is meant by fraud?

v V80 eTT vO>+ H[3T?
3. What is Statutory audit?
280 HO ™(0 J< 0 & {A vO>+ HIFT?
4. What is Audit Planning?
O &0 {Al 0 A"[J< vO>+ HAT?
5. What is routine checking?
o={ [HJ #lJ[+>x vO>+ H]FT?
6. What is meant by Voucher?
(oW vO>+ HIAT?
7. What are theFinancial Statements?
0 DA< 0y led< o T 232
8. What is Internal Control?
0 +™(cTIZ™( [] o(T+H ™(A vO>+ H[3T?
9. What is sampling in Auditing?
0 & {A0eTVH vO>+ H[AT?
10. What is meant by Contingent Liabilities?
] >e+™[ ] <[] TTAV"< (1] «<>™( ~.T vO>+ H[3T?
Section —B

Answer any two of the following. 2x10=20M
11. What is Auditing? What are types of Audits?

0 & { [+>x vO>+ HAT? U & >' bz 6T+ T ™| - T|L veTT.
12. What is Internal Check? What are features of good system of internal check? What is
the position of an Audit in relation to such a system?

VHM(GIZ™( ™([] ¢ vO>+ HIFT? <1 (1 . <] A")IT? eT]o(TT [ &1 {A &—
=1 ™[ T veTT.

13. Write about theauditor’s appointment, Professional Qualifications and personal
Qualifications.

0 &0 {A D @(NeTJ<eTT, el <! |0 63y T—0 eT]p(TT e[ | >0™( vo3 |
¢ - T ™| - T|O veTT.

Section-C



lll. Answer any two of the following. 2 x 20 =40M
14. What are objectives and advantages of auditing?
0 &0 {[+>x 5.0+ . T |0 o WUHD T ™[ . T|D veTT.
15. What is meant by Verification and valuation? How would you verify and valuate the
assets and liabilities?

0 o3V|0 A €T]Q(TT €TV {"<>+J<0eTT vO>+ HJFT? 33< (0 0 80 Tl ..0T v|
0 0T =3< (0 4>+ 0 o3V|D AeTIQ(TT  €TT{"<>+1<0 #lo(TT< Tev?

16. What is meant by Investigation? Distinguish between Auditing and investigation?
Ez< (1 0vO>+t HAT? [0 &1 { [+>x@®<(] E¢< (11 08<] «Fxo.. ™ |&] ¢
Y39



J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)
lll B.Com General & Computers
Auditing
Semester - VI

Time : 3Hrs. Max.Marks:70
Section—A
I.  Answer all of the following. 10 x1 =10M
1. Write two Advantages of Audit of Partnership firm?
v [">ekcMeT> 80 +80 @0 & {Aae..' J< . T>oT Ro+& T ¢"v ()32
2. What are the types of Capitals?
eTN..< (0 HI . tgl o3I+ T=3?
3. What is Debenture?
& [ HKoIT vo>+ H3T?
4. What is Statutory report?
281 H ™((] <[] yl~d< vO>+ H3T?
5. What are the types of Audit report?
0 &0 {AIBJoIT...tz 6T+ THAT?
6. What is a Letter?
WK vO>+ H3T?
7. Whatis a enquiry Letter?
) 6IA vO>+ H[3T?
8. Whatis a report?
1B) 63T... vO>+ HIAT?
9. Write two features of good report?

eT+= 1B) 63T... @ TTd<— Ro+&1 T . JI< A" $)IT?

10. Mention the types of Business Letter?

vl ©PceT HK.. oI+ T =32

Section -B

Answer any two of the following. 2x10=20M

11. What points should an Auditor keep in mind while auditing any two non trading

concerns?



~<]7 Ro+&D Tyl >Pcc™(6T 80 +80 @Y™ 0T 0 & {A #lp(TTO|I v
&0 T &1 26V >oT] | +H#{Te..6—0 v+ . T ™| ~. T|J veTT.
12. What is a report? What are types of reports?
1B)63T... vO>+ HAT? IB) 63T... . tz 63+ T =3?
13. Explain special points what would require the attention Auditor while conducting audit
of partnership.

v [">ekcMeT> 80 +860 @ 1 & {A#]0 8|0 v& I T\ >eeTl] +#e.".d
—0 3ol e(V..T.

Section - C
lll. Answer any two of the following. 2 x 20 =40M
14. What is audit report? What are the contents of Audit report?
1 & {ABJoIT... vO>+ HAT? [ &1 {A 6ITPJ3IT... bz v+E( . T =37
15. What are the parts of a Business Letter?
Yyl ©BcoINK ]l eTTKe> v [">+1)3?
16. What are the preliminaries should be taken by the auditor before commencing the Audit
of Company?
J<40 |10 &0 (Al BeoT+o (1 +#10 820 V&L T &L 6% pdl TJ pHII Be<
(T AT A< 6T« . T =37



J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General & Computers

Business Law

Semester -V
PPW:5
Objective:To make the students learn the basics of the Business laws and apply them in real life
situations.
Unit — I: Contract Act:
Agreement and Contract: Definition and meaning, Essential of a valid contract, types of
Contracts.
Offer and Acceptance: Definition, Essential of a valid offer and acceptance, communication and
revocation of offer and acceptance.
Unit —lI: Consideration:
Definition and importance- Essentials of valid consideration- the Doctrines of ‘Stanger to
Contract’ and No Consideration-No Contract’- Capacity to contract- special rules regarding
minor’s agreements.
Consent: Free Consent-Flaw in consent: Coercion- Undue influence- Fraud- Misrepresentation
and Mistake.
Unit — lll: Legality of Contract:
Legality of object and consideration; illegal and immoral agreements, agreements opposed to
public policy.
Agreements expressly declared to be void- wagering agreements and contingent contracts.



Unit — IV: Discharge of Contract

Discharge of a contract- various modes of discharge of a contract, performance of contracts.
Breach of a contract- types- remedies for breach of a contract.

Unit — V: Sale of Goods Act:

Contract of sale: Definition- features- definition of the term goods- types of good- rules of
transfer of property in goods- differences between sale and agreement to sell.

Rights of an unpaid seller.

Conditions and warranties- meaning and distinction- express and implied conditions and
warranties- sale by non-owners- auction sale.

Suggested Books:

Kapoor ND: MercentileLaw,Sultan Chand

Kapoor ND: Company Law, Sultan Chand

Balachandran V: Business Law, Tata

Tulsian: Mercantile Law, Tata

Tulsian: Business Law, Tata

Gogna: A Text Books of Business and Industrial Law, S.Chand

Gogna: A Text Book of Mercantile Law, S.Chand

Gogan: A Text Book of Company Law, S.Chand

Pillai Bhagavathi: Business Law, S.Chand

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General & Computers

Business Law

Semester - VI
PPW:5
Objective: To make the students learn the basics of the Business laws and apply them in real
life situations.
Unit —I: Consumer Protection Act and Intellectual Property Rights
Definitions of the terms consumer, unfair trade practices, restrictive trade practices and
complainant-rights of consumers-consumer protection councils-consumerredressal agencies-
penalties for violation.
Unit — II: Intellectual Property Rights
Intellectual property Rights: Meaning-Need and Objectives-Meaning of the terms industrial
property, literary property, copy right, patents, trademarks, trade names, trade secrets,
industrial designs, geographical indications. Information technology Act, 2000: aims and
objectives, a brief overview of the Act.
Unit —lll: Company Law
Doctrine of ultra vires and its effects-doctrine of constructive notice-doctrine of indoor
management-exceptions.



Unit — IV:Management of companies

Management of companies-directors-qualifications-disqualifications-appointment-removal-
rights and duties-company meetings and resolutions-appointment of a company secretary.

Unit — V:Winding up of companies

Winding up of companies-various modes-compulsory winding up-powers and duties of official
liguidators-members andcreditors voluntary winding up-winding up subject to the supervision
of the court-dissolution.

Suggested Books:

Kapoor ND: MercentileLaw,Sultan Chand

Kapoor ND: Company Law, Sultan Chand

Balachandran V: Business Law, Tata

Tulsian: Mercantile Law, Tata

Tulsian: Business Law, Tata

Gogna: A Text Books of Business and Industrial Law, S.Chand

Gogna: A Text Book of Mercantile Law, S.Chand

Gogan: A Text Book of Company Law, S.Chand

Pillai Bhagavathi: Business Law, S.Chand

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

Il B.Com General & Computers
Business Law
Semester - VI
Time : 3Hrs. Max.Marks:70
Section—-A

I Answer all of the following. 10x1=10M
1. Define consumer.

30 @W>e<] 6IT&L [ [ 6In=+ veTT?
2. Write about Rights of consumers?

A0 @ W>e<] 63T ] "®< —..0T >oT]+= |yl o(TTeTT?
3. What are the Trade secrets.

Yl &P 03¢ "800 «>eTT..0T ™| . T|D veTT?
4. What is the object of the Information TechnologyAct 20007?



80 eV#D oF #(>...eTT @ TTd<— 0 <J@=)>eTT 23T{ [?
5. Whois Director?
&\[MRo<...63T vO>+ =ecIT?
6. Mention the qualifications of director?
& [IRoI<...6F voJ | ™~ 0T ™| |1 +& 2
7. Mention the types of meetings.
J<+0 180 ey [E)eTT 0T ™[ |0 +&01 2
8. What is the meaning of winding up of a company?
J<+0 1o 180 eV ves+=3T1?
9. Define services under consumer protection Act19867?
30 @lW>e<] 63 6TJ<1 A>...6TT 1986 | J[+<7 1 8e..0T [ 6In=+|1 ve
TT?
10. What is District forum?
0 b BT JoTeTT >oT]+= |y o(TTTT?

Section—B

Answer any two of the following. 2x10=20M
11. Write about Information Technology Act 20007?

801 eV#1 63 #(>...€TT 2000 >eT]+= | w1 o(TTeTT?

12. Explain the Doctrine of constructive noticein Company?
J<HT o 2+ bz 80 40 ["I™(H o { (801 T 8—<11 @+™(eTTOT Je]+K Te
TT?

13. Who is Director? What is the Process for Appointment and removal of Directors?
& [TRo.J<...03T vO>+ 2eoIT? & [TRoJI<...oTF @< 81 +11 +~+=0 [1 oV
eTJ<eTT, ™M= /+|0 v 0 +< (0 6..T |yl (TTeTT?

Section - C
Answer any two of the following. 2x20=40M
14. Who is consumer? What is the redressal Agencies for settlement of industrial disputes?

30 @lW>e<) 6IT&L T vO>+ 2e0IT? 30 ¢ [ V>e< 63 eTT&L +# .. [ el <
| Iyl < |0 Jyc—o3 (p<T+| ™[] +>egTT >oT]+= Je]+HKTeTT?

15. Explain Doctrine of ultra vires and its exceptions?



Vv~ rAiGD p™( 6—<L] ﬂ+TM(8TT vO>+ HJE!T? ITOgl] ™MoTT+|L v..™ o Fg]
+HTeTT?

16. What is meant by Winding up of a company? Explain the procedure for Winding up by
court?

J<+0 10 180 eNl—| vo>+ HIAT? J 9 o3T/ [0 0TIy i<t Atz |0 180 eV—
| >eT]+= Je]+HKTeTT?

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)



lll B.Com General & Computers
Business Law
Semester -V

Time: 3Hrs. Max.Marks:70
Section— A
. Answer all of the following. 10x1=10M
1. Define Contract?

10.

11

12

J+H (@< ..0T 0 63n=+1 VET

Define offer?

| |0 <Bc< 60 63n=+] veTT?

Define Consideration?

|0 <0 O ~.eTTOT 0 63n=+1 veTT?

What is true Consent?

0 T~N0 MoINd<y [T—0 801 €T < vo>+ HAT?

Define Discharge of Contract?

JH {"@< L v'<) o™ Ty WHKOeTT 1 63n=+|] veTT?
What is meant by breach of contract?

JH {"@®<0) ..o [T +>0€TT v+¢) 23T{ (2

What is legality of object?

HO >e(\N™([] J<y (T—0 [ <JO=)«>eTT vO>+ H[AT?
What are the agreements expressly declared to be void?

#lo0 B> | |0 a<{™ETT 240 vl 29 T+>T 232 |y o(TTeTT?
Define contract of Sale?

veTll J<eTT J++| {"@®<..0T 0 6In=+|] veTT?
What is the hire purchase agreement?

v<l 4=0T> @ . T vl Ly T+>T >eT]+= |y o(TTeTT?

Section - B
Answer any two of the following. 2x10=20M

. What is offer? Explain the essentials of a valid offer.

|11 «<Be<) 00T v+¢) =3T{? | J<eTr) <1 My [T—0 ™M1 Be<) 00< (1 +&1
£..6—0 . J<0 A" . T =3T{[? Je]+(TeTT.

. What is capacity of contract? Explain the Special rules relating to Minors agreement?
Bel... vo3 | ™( vO>+ HAT? w T—063' @< 871 +71 +~ (+=0 | [[] ™(<>
<4< (11 0T Je]+HK+& ?



13. Write aboutlegality of object? And Explain lllegal and Immoral agreements.
HO (™0 <y T—0 [0 <IMZJeTT - a<0 A7 0T ™ |0 +&0 2 #(=...0
<0 M+ eT](TT vHIT=d< vl 29 [T+>70T, wi {[ eT<) <> >e.. ™ &[]
S OT ™| |0 +&0 2

Section - C
Il Answer any two of the following. 2x20=40M
14. Write any two definitions of contract? What are the essentials of a valid contract?

("< 0 63AHOeTT .. T Ro+&D T |y o(TTeTT? L+ {"@®<T ...
0 e5)«>t .. T ]+ TeTT?

15. What is Discharge of contract? Write about theVarious modes of Discharge of contract?
] (@< L v'<D ™0 Ty WVKOeTT vO>+ HIAT? 33< 6T+ o[ 10
V<] ™0 Jy (VKOeTT |0 <0 N™(T 0T |y o(TTeTT.

16. Who is an unpaid seller? Explain the Rights of an unpaid seller?
#lx"+0 v UoIT>e] veTl J<eTT <] 63T vO>+ 2ecIT? vIW([I [ >e.. ¢ "
@<l —..0T Fe]+#+&[ ?



J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General
Management Accounting
Semester -V
Elective - I
PPW:5
Unit — I: Introduction
Definition, scope, objective of management Accounting - Management Accounting Vs. Financial
Accounting and Cost Accounting. Installation of Management Accounting system- Role of
Management Accounting — Controller functions — Management Information System (Theory
only)
Unit —Il: Financial Statement Analysis
Meaning, types, use and limitationsof financial statements. Meaning, process and techniques of
analysis of financial statements — comparative, common size statements and trend analysis
(including problems)
Lab: using Excel/ Accounting packages computation of problems on various techniques of
financial statements analysis.
Unit —lll:Ratio Analysis
Meaning, Classification, advantages and limitations of ratio analysis. Computation and
interpretation of accounting ratios: liquidity, profitability, activity and solvency ratios(including
problems).



Lab: using Excel/ Accounting packages computation of problems on Ratio Analysis

Suggested readings:

1. Introduction to Management Accounting : Charles t, Horn GaxyL.Sundem
Tools an Technique of Management Accounting: N.Vinayakam
Management Accounting: S.P.Gupta
Management Accounting: Manmohan&Goyal
Management Accounting: V.Krishna Kumar
Practical problems in Management Accounting: Dr.Kulsreshtha and gupta
Management Accounting: J.R.Monga&M.Prabhakar Reddy
Management Accountancy: H.Premraja, Srihamsarala

L N UL e WN

Management Accountancy: SudhindraBhat
10. Management Accounting: Bhattacharya
11. Management Accounting: Sharma ShashiK.Gupta

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General
Management Accounting
Semester - VI
Elective - I
PPW:5
Unit — I: Funds Flow Analysis
Concepts of fund and fund flow — Preparation of funds flow statement.Uses and limitations of
funds flow.
Lab: using Excel/Accounting packages computation of problems on fund flow statements.
Unit —Il: Cash Flow Analysis
Concepts of cash and cash flow — preparation of cash flow statement as per Accounting
Standard No.3- Uses and limitations of cash flow analysis (including problems)
Lab: using Excel/Accounting packages computation of problems on Cash Flow statements.
Unit - lll: Capital Budgeting
Meaning and importance of capital budgeting- process of capital budgeting- Methods of capital
budgeting: Traditional and time — adjustment methods (including problems).
Suggested readings:



Introduction to Management Accounting : Charles t, Horn GaxyL.Sundem
Tools an Technique of Management Accounting: N.Vinayakam
Management Accounting: S.P.Gupta

Management Accounting: Manmohan&Goyal

Management Accounting: V.Krishna Kumar

Practical problems in Management Accounting: Dr.Kulsreshtha and gupta
Management Accounting: J.R.Monga&M.Prabhakar Reddy

Management Accountancy: H.Premraja, Srihamsarala

W 00N U WDNPRE

Management Accountancy: SudhindraBhat
10. Management Accounting: Bhattacharya
11. Management Accounting: Sharma ShashiK.Gupta

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General
Management Accounting
Semester - VI
Elective - Il
Time : 3Hrs. Max.Marks:70
Section—-A

I Answer all of the following. 10x1=10M
eTT. <000 &1 &{[+>x vO>+ HJAT?

eTT. < (1100 &le{[+>xTI< (T |7 <1 M™(T..0T ™| .. TeeTT.
1 63N "A TV . < (11 0+ vO>+ HIFT?

|0 80 TI™( 0 801 T . T vO>+ HAT?

[0 800 TI™( v 0 - @<0] (1 <1 1 "oJA-T |yl o(TTeTT.

LA A o



L ® N o

11.

12.

vee ™ FRATTO €TV < (0 00 &L { [+>¢o(0 J]2~?
0>e< ] T |0 yil ¢ " O yl~d< vO>+ HIAT?
0>e<] TeTV..< () o) . T=3?
O ~( vo>+ HAT?

+ <) noll d<0T>=+{"c3JT.

Section -B

Answer any two of the following.
~>oTe [ 8—| v|0 O o« |0 {Y....0T+&0 DgeINA eTV..< [0 0+t ettlc e
Vo3Te..0T J<OT>=H] [ yl~< ™(o(NoIT #lp(T+&( .

2x10=20M

. oI "Be T < noll eftle 0 < (0 To0T <0 0 ™(e(NoIT #Jo(T&L

vO O ..T 2008 2009| O&0T|.T 2008 2009
eTV..< (0 6+ 3,00,000 | 3,75,000 | o(T+ ™0 - T 70,000 | 1,00,00
1 TTA<D ™(| 1,06,000 | 70,000 | 87 cIT®< 1,21,000 0
- T 14,000 | 31,000 | 1 TTAl >80 T|| 1,81,000| 1,36,00
o [y ™ ~T 48,000 0
O O>e<[] T 1,70,00

o o N 0
4,20,000 | 4,76,000 420,000 | 70,000
4,76,00
0

~>oTg Jeol| .. OT+&] 0>e< | T|8[] e+ [ yl~I<OT ™(p(NoIT #Jo(TTeT

T.

voO T 2006 2007 O&OT|.~.T 2006 | 2007
eTV. < (11 0+ 2,00,000 | 2,50,000 | 6>e<[| T 30,000 | 47,000
[ TTA<L] ™( T | 70,000 | 45,000 | TTAl>e51 T| 1,20,000 | 1,15,00
fo (" Oy, 10,000 | 23,000 | | -.T 80,000 0
Y™ 80 6IT®< 50,000 | 90,000
o (0 V3T 66,000
2,80,000 | 3,18,000 2,80,000 N




13.

14.

15.

3,18,00
0

eTV. < (0100 &l o{[+>x vO>+t HAT? < [ | Bce TTK« 9P 3e]+= TV
<000 & &{AOT |yl ¢(TTETT.

Answer any two of the fol

lowing.

Section - C

2x20=40M
O d[+~0 =<0 | BeXo®< ... n eT](TT | BXo®< ... - 80 eV# oI+

1 < (T 634>+ 81 >e>T 671 11 & #6>TOT J<OT>=0TeTT.

O |2T...0 &O
v+ HO 93I™( Jt. .+
o0 +e™(0cd .. T

63v.20,000
4 SHe™(0oO .. T]
| B=X=@<O ... n

63v.30,000

500 +e™(Oold ..
| B=X>0<O ..

1

2
3
4
5

2,000
1,500
1,500
1,000

6,000

3,000
3,000
2,000
1,000
1,000

10,000

0 sy =) ved 63y T—0 601 [ & #0>T 12% voTT™ | = | BeXo@<(] ...

OT uoTl Jgoyl] *?

~>oTe [1 6—| v 0 o~ [0 {[...0 1.1.7062.2006 , ..®<" 81 +] +~+=0
3.
vo O ~.T 1.1.2006 | 31.12.20 | 080 T| ~T| 1.1.200 | 31.12.2
06 6 006
) TTA<) ™( - T 40,000 | 40,000 | 0>e<(] T 10,000 | 7,000
no ("63<> 0T+& 1 | 25,000 | 0 TTAl>e801| 30,000 | 50,000
v ~T 40,000 | 50,000 | T| .. T 35,000 | 25,000
VH+®<] OT+& fq 1,25,000 | 1,53,000 | 871 oIT®<T| 80,000 | 55,000
0T o(T+ ™1 . | 40,000 | 50,000




16.

eTV . .< rD 0+

T

2,30,000

o (V3T
UrD cHl .

2,47,000

ol

35,000

60,000

2,30,00
0

2,47,00
0

81 +e™(06T+ ez 63V.10,000 . T K< T #1718 o(T+H ™0 0 0 (80 +="™( ™(5

IT>eT<] .. 3,000) 63V.5,000.®<1 vIT] H 6IT. M(cIT>eT<] ..

~ol] €

>T 0 o(T+ ™(+7 [[11.1.2006 HO & T 63V.25,000 €T]o(TT 31.12.2006 HT]
&0 T 63V.40,000 [ 001 ~.
2006 t 63V.45,000 . T 0 J<6T "0 [ + e=c+~. [ [[[Fecl] ™ o O>e<] T
|10 Wi ¢ "0 wl~d<OT ™(o(NoIT #Jo(TTeTT.

~>oTg [ =X
Ltd. 0 &—| vjT O o [0 {[...0T+&0 0 <[y ¢ " 0 yled< ™M(@(No I TH]
o(TTeTT.

vOO ..T 2005 2006 | O&O0T|..T 2005 | 2006
wi {"eTV..< (0 ( 1,00,00 | 1,25,000 | v (T \3T 1,00,000 | 95,000
+ 0| 30,000 | B'+>T 75,000 | 84,500
ke< [0 63A Juo | 25,000 15300 | 80 6ITO<T | 50,000 | 37,000
ST 15,250 | 20,000 | [0 TTAl>e801 T| 40,000 | 32,100
G 35,000 | 47,600 | |~ T 250 300
Y™ 75,000 | 17,500 | 0>e<] T 16,500
V@< 0T | 15,000 >eT&L A
] TTA<L] ™( - T o o B
0 0Te..®<] =o | 2,55,400 2,65,250 | 2,55,40
0 e>T 2,65,25 0

0

v<0 8|0 v 80 eV#1 63+
. #x+=0 &1 3& (+&0 T 63V.11,500
L BZ+2T O |1 63<0 TN#IE—0 ™M(cIT>eT< .. 63V.2000
§—. ##'+=0 [ < o(T |11 6T 63V.16,500

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

11l B.Com General



Management Accounting
Semester -V
Elective - I
Time : 3Hrs. Max.Marks:70
Section - A

1. Answer all of the following. 10x1=10M
0 @A 0 ylea< o T 232

Wy I TH XAy [T+H{A v +{ [+>x v+) 23T{ [?

01D a< >eAZ( 80 | [0 13T™(T.. T Ro+& 1 T ™~ T|] veTT.
1 63N "A S eV# 63 e>ed & vO>+ HAT?

™(T - H ™(] J< [ 86— vjo O o |0 {[... vo>+ HAT?

1 o3INg ] "AY™(c3 8<—>(p(\/.'.T ~4?

v O O Jd[{[0 o0 e<| vo>+ B AT

163D IE® o] A vO>+ HAT?

0 B TIEZR ol AD<T T [0 @ WL+ ke< (0 HO . T 232
[0 ol e<=| vo>+ HAT?

L © N o 0 B~ W NDoE

[
o

Section -B
. Answer any two of the following. 2x10=20M

11. ~>oTe ("0 [" Oyc..... Y'™[ OT+& ] 31.12.2007, 2008 811 +£™(Ool . @<L
eTT . HI ™(1) J< [0 <] (T [ yhd< ™M@(NoIT #Jo(T+& .
YK Oyc..... Y'™[

(~.J<0 - te)

2007 | 2008 2007 | 2008
TovaT] 0801 Tlev.. ¢ 600 | 750 | By 800 | 1000
T+ 20 20 | [} d<63 veTll J
Toll 63Nc] "AKoITc 30 40 | =T
o T 150 190
ToveTl] J<+ Ko3Tc .
. _ _ | _
Toll J<63 ¢"o [T + 800 | 1,000 800 | 1,000

12. 0 J< I<4+0 |10 80 0 o 0 { (... 0T+&0 | [+~ { [0 bod[—+K+&T 1.
O 80 TI™ D 0l el 2.1<0 eo™(N 0 o e<]



3.p(\NuegVo> [ ol 2=

voo . T o3V, 080 T|..T o3V.
5,000 0 d[A{ [y {" Ty v (U VeTT..Tu (L €6 6,00,000
01 5,00,000 | TT..T 5,00,000
c3V.100 B/+>T (T+ ™[ - T| 2,40,000
8% 2000 [ ~[J<eo|0 v | 2,00,000 | 80 oITO< 2,00,000
w (" T 4,00,000 | T TTAl>e80 T .. T 55,000
& VOHKSTIT 9% 3,00,000 | V"<>+®<] tz O>e< 5,000
Jue3ITN.. T 1,50,000 | T
0 TTA<[] ™( . T 50,000 | eTT+<] T>+ #[+'+=0
V'+®<0 LeoP | &O [0t Y™
16,00,00 16,00,000
0

A+~ 0—l vio o oo (0T 80 eT |0 JeNA L 86— vio 0 . |0 {[.. >+ eVo

Jc+&l] .

voO T 2006 | 2007 080 Tl~T | 2006 2007
eTV.~.< (11 6+ 1,000 | 1,200 |||o 60 TI™( O 8O
JUsITA 90 185 | . T> 450 | 390
k< [0 63A Juo 500 450 | 1] TTAl >80 T| .7 200 15
3TN 90 100 | 0>e<(1 T 320 250
Dl |0 O~ 450 650 | 811 cIT®<L] 800 | 1,400
& #+#(c3T 200 150 v (T eHO T 198 | 345
) TTA<] ™( - T 15 20 | v (0 N3AT 771 105
] ™(g[] T 0 00 #eW

2,345 | 2,755 2,345 | 2,755
Section - C

Answer any two of the following. 2x20=40M

 ~>eTe 81 eV# 6T+ 0T+& [ <[] ™(eABID erec] ™Mol .. [0 [ *™
000 0 el <l BM™ETT 0T O [0 o WL80 TIveNoTT+#(+&C



deold .. T 2002 | 2003 | 2004 | 2005

oSV. | o3V.| oV.| o3V.

[ A<63 veTl AT 100.00 | 95.00 | 120.00 | 130.00

VAT 0 &80 Tlev.. e>o(T{ 60.00 | 58.90 | 69.60 | 72.80

SUND - o (1 + 40.00 | 36.10 | 50.40| 57.20

0 63INg ) "AKe3ITc.. T 10.00| 9.70| 11.00| 12.00

0 63ngll At (T + 30.00 | 26.40 | 39.40 | 45.20

15. ~>eTe [ =0 Jeol] . ™ 3. Te..OT J<OT>=0 0 &—| v[J O .~ [0 {[...0 ™(

o(NoIT #Jo(TTeTT.

|10 80 TI™( 0 0 e=] 2.5
™A™ [ o] e<=]| 1.5
8—oll 801 Tl .. T/p(NueVoe> 1 < (1] T.. T 0.75
0 63ng "A eTV..< (01 8+ 63.60,000
JUeITA.. T IT>eT=)1 U 63v.40,000
BoJ| < 6ITA” . T, d<xe™( [1 81 T| .. T Jtev
16. [1 63Ncl] "A >eAI< E( 801 |eTTOT [ 63n=+= <111 |11 ]~ [, eTTK<> 11 <J@=(
< ..0T >e\]c |yl @(TTeTT.

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General & Computers
Corporate Accounting
Semester -V

PPW (4+1)
Objective:

1. To provide the knowledge relating to the Accounting Standards

2. To enable students to company final accounts using computers

3. To enable the students to prepare financial statements of insurance and bank

companies.



Unit- I: Accounting standards - Valuation of goodwill

Accounting standards- need and importance-an overview of Indian Accounting standards
Valuation of goodwill-Need and methods-Normal profit method, Super profits method-
capitalization method.

Unit -lI: Valuation of Shares

Need for Valuation-methods of valuation-Net assets Method, yield Basis method, Fair Value
Method.

Unit-lll: Company Final Accounts

Preparation of Final Accounts-Provisions relating to preparation of Final accounts-Profit and
Loss Account and balance sheet-Preparation of final accounts using computers.

Unit-1V: Issue of bonus shares

Provisions of Company’s Act and SEBI guidelines Acquisition of business and profits prior to
incorporation-accounting treatment.

Unit-V: Amalgamation

In nature of merger and purchase-Calculation of purchase consideration-Treatment in the
books of transferor and transferee (as per Accounting Standard 14, excluding inter- Company
holdings) Recordings of transactions relating to mergers using computers.

Suggested Readings:
1. Principles and Practice of Accounting , R.L. Gupta & V.K. Gupta, Sulthan Chand & Sons
Accountancy-lll ,Tulasian, TataMcgraw Hill Co
Financial Accounting, Dr. V.K. Goyal, Excel books
Introduction to Accountancy., T.S. Grewal, S. Chand
Modern Accountancy Vol-Il., Haneef and MukherjeeTataMcgraw Hill CO
Advanced Accountancy,Arulanandam , Himalaya publishers
Advanced Accountancy Vol-Il ,S.N.Maheswary& V.L. MaheswaryVikash Publishing co.
Advanced Accountancy,Shukla and grewal S. Chand & sons

© 0N U A WN

Advanced Accountancy, R.L. Gupta and Radhaswamy, Sulthanchand& sons
10. Corporate Accounting, GoyalVK,Excel

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General & Computers
Corporate Accounting
Semester - VI
PPW (4+1)
Objective:
1. To provide the knowledge relating to the Accounting Standards
2. To enable students to company final accounts using computers



3. To enable the students to prepare financial statements of insurance and bank
companies.

Unit -I: Internal Reconstruction
Internal Reconstruction-Accounting Treatment-Preparation of final statements after
reconstruction-Recording of transactions relatingto Internal Reconstruction using computers.
Unit —ll: Bank Accounts
Bank Accounts-Books and Registers to be maintained by banks-Slip system of posting- rebate
on bills discounted-Schedule of advances-Non-performing assets-Legal provisions relating to
Preparation of Final accounts-Preparation of bank Final Accounts using computers.
Unit-lll
Life Insurance Companies-Preparation of Revenue Account, Profit and Loss account, Balance
Sheet and Valuation Balance Sheet.
Unit-1IV
General insurance Preparation of Final accounts-with special reference to fire & marine
insurance only.

Suggested Readings:
1. Principles and Practice of Accounting, R.L. Gupta & V.K. Gupta,Sulthan Chand & Sons
Accountancy-lll ,Tulasian, TataMcgraw Hill Co
Financial Accounting, Dr. V.K. Goyal, Excel books
Introduction to Accountancy., T.S. Grewal, S. Chand
Modern Accountancy Vol-Il. , Haneef and MukherjeeTataMcgraw Hill CO
Advanced Accountancy,Arulanandam, Himalaya publishers
Advanced Accountancy Vol-Il ,S.N.Maheswary& V.L. MaheswaryVikash Publishing co.
Advanced Accountancy,Shukla and grewal S. Chand & sons

© 0N UV A WN

Advanced Accountancy, R.L. Gupta and Radhaswamy, Sulthanchand& sons
10. Corporate Accounting, GoyalVK,Excel

11. Corporate Accounting,Verma KK,Excel

12. International Accounting,Saudagaran,Cengage

J.M.JCOLLEGE FOR WOMEN, TENALI(Autonomous)

lll B.Com General & Computers
Corporate Accounting
Semester -V
Time : 3Hrs. Max.Marks:70
Section— A
I.  Answer all of the following. 10x1=10M
1. Define Accounting Standards.

vl +{ [+>x | |0 eVA” . T [ 63n=+0] veTT.



2. What is the need for valuation of goodwill?
>eT&L A (o [—+HD £..6—0 [ £5)¢>I<™M( =3T?

3. What is the Importance of valuation of shares?
wi {5 30 Te J<>T. > o TTa<— | Bee TTK>™( =3T?

4. What is meant by preliminary expenses?
| Be< (0 3TI< KoITe.. T vO>+ HJAT?

5. What is Discount on issue of shares?
O {70 T &2 «X—+>T vO>+ H[AT?

6. What is meant by profits prior to incorporation?
Oy [N<) T®< eTT+< T t"v (.. T vO>+ HJAT?

7. What is meant by purchase consideration?
J=0T>="T| |0 <[ O .+ vO>+ HAT?

8. Define amalgamation.
81 +¢ (\>eeTTOT [ I =+ veTT.

9. What is Bonus share?
vz08T Y {” vO>+ HJ3T?

10. Mention the methods of calculating purchase consideration?
J=0T>="T| |0 <[ 0 - eTT tod[—HKT | <) T™(T..0T ™[ .. T| veTT?

Section—-B
Answer any two of the following. 2x10=20M

11. From the following information calculate the value of goodwill of the Business of Samson.
Average capital employed in the business Rs.40,000 Net trading profit of the firm for the
past 4 years 2006: Rs.12,200, 2007: Rs.11,000, 2008: Rs.2,000 and 2009: Rs.21,000
Rate of interest expected from capital Rs.10% Fair remuneration to the services of Samson
Rs.3,600.
3 years purchase of additional profits on the basis of average profits of previous. Four
years be treated as goodwill.

| [+~ 3eol] T E+80 HO 0 63ne—"+#] [ J<yl o>pcoll O [ 80 +0 +~ [+=
03. vIM([] [ <>PcoT >eT& A o[ —+KTeTT.

30 @ (N4+=0 €TV .. < [T 0+ 63V.40,000 >e™( 4 51 +£™(0c .. "v [T + 20065
63v.12,200, 2007563V.11,000,

2008563.2,000, 2009563V.21,000

eTN..< (0 0+0 [T 2o>T | |0 AFe e& f 10% E(+80 HI [ de.. @< eTo=.<

O Be~tz 044y o [+ D <0 0 4 6TIV.3,600 >e™( H - T>eT 801 +£™(0



12.

oll . 80 >e>T (" [0 + | poes|l ~<0 [T €TV&D T 80 +6™(Ool] .. v<l] 0] v "

O (" T J=0T> g . TOT >eT& ] Fta>+ 3. Te (.. x.

The balance sheet of ‘A’ Ltd. As on 31.12.2000 is given below.

Liabilities Rs. Assets Rs.
Authorised capital 1,00,000 10,00,000 | Fixed Assets 15,00,000
equity shares of Rs.10 each Current Assets 5,00,000
1,00,000 equity shares of
Rs.7.50 per share paid up 7,50,000
General reserve 4,00,000
Share Premium 2,00,000
P/L account 2,50,000
Creditor 4,00,000

20,00,000 20,00,000

The company decided to make partly paid shares fully paid out of P/L account. It was also

decided to issue one fully paid bonus share for every two shares held and for this purpose

the share premium was to be fully used first and later general reserve. Give Journal

entries for the above.

‘N td. w10 8—| v 0 o0 {0 31.12.200 0] [+~ 3< [T 4>+ 1 00 ~.

voOoO ..T o3V.| O0&OT|.-T o3V.
v~ (< ™ TV . <+ 0+ 1,00,00( 8—Jol1 81 Tl| 15,00,000
yil {7 Tyl {" 1 J[ 1063V. #=|| 10,00,000 | .. T 5,00,000
vO 7,50,000 | #(c(1 81 T| ...
i {"d[ 14[ 63V.7.50 #=0 vO #1|  4,00,000
*'4+=0~ 2,00,000
k< (11 63A JUsITA 2,50,000
yU {"]|©3Te(T+ 4,00,000
fo (" Oy, Y™
] TTA<] ™( . T o o

20,00,000 20,00,000

[ v voTTOI>+ #Jo(Te to0T. eT)o(TT | | <=Ro+&L Tyl {"-. @< [ <y (Vo

Sty {" 0 enefo0T. 0 [ 630 (N7 0 0 #oIAD [2...{"0 [y {"]||©3Te(T+

Y™ 9T w TT<O > 30 ¢ (NL+=eToI 1" ke< [0 63A JusITAOT 30 ¢ (NL+
#(eto0T. ={"... |7 <0 TN T |y o(TTET



13. A company Ltd. purchased a business on 1.4.2002. The company obtained certificate to
commence business on 31.7.2002. From the following particulars for the year ending
31.3.2003 as certain profit prior to incorporation and divisible profits.

a. Total sales up to 31.3.2003 Rs.10,00,000. Sales from 1.4.2002 to 31.7.2002
Rs.2,50,000.

b. Gross profit for the year Rs.2,12,000

c. Expenses debited to P/L a/c are as to follows:

Particulars Rs.
Rent 6,000
Insurance 1,500
Salaries 27,000
Selling expenses 9,000
Advertisement 8,000
Interest on debentures 4,000
Audit fees 1,200
Printing of Stationary 4,200

Depreciation on Machinery 30,000
Commission on sales 12,600
Bad debit(Rs.850 related

to prior to incorporation) 2,400

General expenses 4,800
Director fees 2,600
Preliminary expenses 7,200

Interest paid to vendors up to 1.9.2002, 5,000
0 < <+ | —(TFA 1,2002 6 [ J< 0&L1 TS T100 wil «>Bcoll [0 J=T
>=. T #J6—+~. eT]o(TT 31.7.20020 y[l <->Bco3 | BooTI+u (1 | <0 Te | | ™
000 BJ+~6~.31.3.2003 HO { [ Feol) T+~ yll < (0 +>+ (H. U ¢
Oy (V< T®<U eTT+< T eT]o(TT ™(c] N™( t"v (" .. T J<BT>=H] | {[...
<OT ™(p(NoIT #.lp(TTeTT.
(1) 31.3.2003 £6I®<] w TT™(|+ veTl J+.. T 63V.10,00,000 1.4.2002 6T+
& 31.7.2002 e6I®<] veTll J+.. T 63V.2,50,000
()80 46™(0oi] 11 A 80 ND .. t"o (T + 63V.2,12,000
(6—) t"v [0 Oyc..... YO @< & vo{A #J6—0 KoITc. . T| J[+~3<(
1 4+>x [ HJ [J oTT
o3V,
v<f 6,000



(e 1,500

9™ - T 27,000

veTll A<+ Ko3Tc.. T 9,000

|0 <0 T 8,000

0 &0 {A|l ©F 1,200

| —+{ [+>x/0 §...00 64 4,200

o(T+ ™+ [T ™M(cIT>eT<] . 30,000
veTl J+..00 [T ISMTol HT 12,600

ol " JY..T 2,400

(M{" bz 63V.850 Oy [N< T eTT+< T J< " eV)
KC< (11 63AKoITc.. T 4,800

& [MRo<...63' [ ©F 2,600
| Be< (0 ITI<KoITe.. T 7,200
1.9.2002 e63®<] veTll J<+<] oIT..@®< & f #l+'+0 v 63V.5,00
0
Section—C
lll. Answer any two of the following. 2x20=40M
14. The Balance Sheet of Deepak limited as on 31.3.2004 was as under.
Liabilities Rs. Assets Rs.
4000 equity shares of Rs.100 Land of Building 2,50,000
each 4,00,000 | Machinery 1,20,000
General reserve 50,000 | Investment at cost 70,000
P/L account 50,000 | (Market value Rs.60,000)
Creditors 90,000 | Debtors 1,00,000
Provision for Taxation 40,000 | Stock 80,000
Cash at Bank 10,000
6,30,000 6,30,000

Additional Information:

a. Land and Building and Machinery are valued at Rs.2,40,000 and Rs.95,000
b. Bad debts Rs.5,000

c. Good will is to be taken at Rs.50,000



d. The normal rate of dividend declared by such type of companies is 15% on paid up
capital

e. The average rate of dividend declared and paid by this company is 20% on its paid up
capital. Calculate fair value of equity shares.

31.3.2004
HO {[ B|0 J]#3T¢o& ] <+ || @ TTas— 0 86— v [0 o |0 {[... ~>eTe [l en
0 &L O~
voo . T o3V, 080 Tl.~.T o3V.
4,000 0 J[A{ [y {"T 10063 4,00,000 | v (T V3T v (T eH .| 2,50,00
V. #=)0 50,000 | T 0
ke< [0 63A JueITN 50,000 | o(T+ ™ . T 1,20,00
o (" Oy, Y ™ 90,000 | O |>T...0 & T..(KJ 0
7 TTA<C] ™(.~.T 40,000 | 0 T) 70,000
0 6T - @®<] =ol] e>T (eNRo—{A 3..Te 60
,000) 1,00,00
1) TTAl >80 T| . T 0
|8 o3T®< 80,000
6,30,000 | V"<>+@®<] r O>e< | 10,000
T
6,30,00
0

v<U] 0| v 8L eV# ] 63eTT>
1.

v (0 VAT v (0 eHD . T eT]Q(TT {T+ ™ . T 63V.24,000 £T]p(TF 695,
000..@®<] 3..Te J<>...[0 &L 3.
2.6 0 v"JY .. T 63V.5,000
3. >eT& JtA 63V.50,000 .. T>+ pd) Td=yl] *.
4.0 o3d<y To0 J<+ || bz ke< [0 63A &0 & +&0 T #o>T ##'+#=0 ¢
TT..< (11 0+ [[115% >+ (1 6301 cTTHK& | y|(T—>0~.
5. 801 >e>T &1 3& |+& T #6>T 20% #*'+=0 e TV..< (71 0+ [T 0 J[~{ [ w1
{" (TT<| 3. TeOT J<OT>=OTeTT.



15.

The following trail balance has been extracted from the books of XYZ Ltd. As on
31.3.2001.youare required to prepare profit and loss account and Balance sheet as on
that date.
Debit Rs. Credit Rs.
Land of Buildings 34,000 | Share Capital 1,00,000
Furniture 6,000 | General reserve 5,000
Plant & Machinery 15,000 | 10% Debentures 40,000
Stock 31.3.2001 75,000 | Creditors 4,000
Salaries 25,000 | Gross Profit 75,000
Debtors 10,000 | Interest on investments 1,000
5% Investments 20,000 | Profit & Loss a/c on 1.4 35,000
Bank 5,000
Advance income Tax 2,000
Debenture interest 2,000
Directors fee 7,000
Rent rates & Insurance 24,000
Goodwill 35,000
2,60,000 2,60,000
1. Depreciation on assets
Land and buildings at 10%p.a
Plant and Machinery at 8% p.a
2. Provision for bad debts at 6%
3. The directors have recommended
a. Transfer Rs.3,000 to general reserve account
b. Equity dividend at 10% on the paid up capital
c. Provision for income Tax for Rs.4,000
31.3.2001 HCI { [XYZLtd.v+.J< ~>oTe [1 el &1 O~. "0 (" Oyc... . Y'™T] ¢
oTT O &—| vio 0 =~ [0 {[..0 ™(e(NoIT #lp(TTeTT.
&l {n o3V. | Ra&DO {A o3V.
v (VAT (U eH ~] 34,000 | €TV..< (1] BeTT 1,00,000
[RRRRVREC 6,000 | kc< (11 63A JUcITN 5,000
B'+>T @(T+ ™ - T 15,000 | 10% &1 vOHKGIT' 40,000
o0 o3IT®<] 31.3.200 75,000 | ] TTA<D ™( - T 4,000
g™ T 25,000 | 80 V|« o (T + 75,000
0 TTAl >e80 T| . T 10,000 | [0 v>T... 0 & T..00 [T ¢ 1,000
5% 0 2T... 0 & T.." 20,000 | [ f 35,000




V"' >+D<[]

V& NOTO {"®<] ¢
& v+ oT'T [ e&l
f
& [TRo.J<...03 [0 ©
E

v<| 2c>T ; (eV
>eT& I(A

35,000

5,000
2,000
2,000
7,000
24,000

2,60,000

bro (7 Oyc..... Y'™[] 14

2,60,000

1.v (0 N3AT L (0 eHD -0 T80 +e™(80 o] [ [ 10%. B'+>T o(T+H ™0 .00 [[]

8% ™(cJI>eT<[] .. =ol] e>T #lp(TTeTT.

2.60 0 vl 0~ TTA| >80 T| .00 1 6%
3. k< (1 63A JUeITA®< T+ v 63.3,000
4.0 Ayl {7 #x+=0 TV -.< [0 0+ [T 10% &) 3& [+& T
5.00 <00 (T |0 0T [ ~ [ o3V. 4,000 =c[1 e>T #|p(TTeTT.

16. X Company Ltd. Was taken over by Y come up on the following terms.

a. The ‘Y’ Company is to assume the liabilities and to take over the assets at book value.

b. The ‘Y Company is to discharge the debentures in ‘X" Company at a premium of 5% is

the issue of debentures in Y company.

c. TheY Company is to pay the share holders in the X Company Rs.10 per share in cash

and to give three Rs.10 shares in Y Company for every share in X Company.

The following is the Balance Sheet of X Company Ltd. As on 31 Dec.2005

Liabilities Rs. Assets Rs.

Capital 47,500 shares paid Goodwill 7,00,000
up 20 each 9,50,000 | Buildings 3,13,000
5% Debentures 2,40,000 | Plant 64,200
Reserve Fund 3,00,000 | Fixtures 17,000
Creditors 1,53,000 | Debtors 2,19,800
P/L account 99,200 | Stock 3,86,200
Cash 42,000

Show ledger accounts to close the books of X and opening entries in the books of Y.
| A+~ @0 6I™(T .00 M+ | K<+ | 0] 800 + 90+ #1680 TO<) +>T+~.




(L)Y J<+0 |k J<+0 |10 80 T .67 0 0T [0 v8D |t 3. Te ylToI@<
1 pd1 TJ=0TOT.

()X J<+0 || &0 vo+#H6T'0T 5% | |©ITe(T+™ o J<+0 || &L vo+# 6Tt
# [+ +#(TOT

(6—) Y J<+0 [k <40 | IbeD [0 <= wi 2@<0 63V.10 0>e<] T # [+ HKT>®<

0 x J<+ | | bl 110 eyl {"exast | lred( 3yl {7 T o3V.10 3. Te

>e. 3 XN Ip(TT=®<] v+LI<]+=].

31.12.2005 0 J<+0 [0 86—l vio o - o {[...

viod .. T o3V, 0 &—| o3V,

47,500 yll {"®<1 o3IV.20#  9,50,000 | >eT&L] ItA 7,00,000
6 2,40,000 | v (0 eHO T 3,13,000
5% & VOHKGIT' 3,00,000 | B/ +>T 64,200
lUsITA L ~ 99,200 | [ |1 J<cTIA.T 17,000
o (7 Oyc.... . Y™ 1,53,000 | 7 TTAl>e801 TI.|  2,19,800
O TTA<C] ™( . T T 3,86,200
8 cITO<] 42,000

0>e<1 T S

17,42,200 17,42,200

X J<+0 | 10 V80 |t bz vedl 6By [ T—0 Y™ - T #(N|0 ¥&Ivsl |
+:. | BcoI+o (0 |0 0T .. T |yl o(T+&0 .
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Answer all of the following.

1. What is meant by Internal Reconstruction?

V+™M(6IZ™( |0 VO] oLl [ AeTT vO>+ HIT?
2. Why capital Reduction Account is Opened?
eTN..< (T 0 ™(LZ+[] v Y™ 0T p+< TO< ™(p(NoIT #Jxc|oIT?
3. What is the difference between Internal Reconstruction and external Reconstruction?
VHEM(GIZ™( |0 VO] ol 0 A'D Jf O ¢—"6IZ™( |0 vO]1 o 0 AL Jf >e.. ™ &

1 =3T17?

4. Mention the important books maintained by Bank.
V' +®<0 tz [ 6INc—"+K [ &1 eTTK<>y (T—0 |7 v8 |J+..0T ™ .. |0 +

& .

5. What do you mean by Non performing Assets?
0 6363DJ< 0 80 T - T v+¢) 23T [?

6. What are different types of insurances?
; (eNtz 63+, T =3?
7. What is meant by valuation Balance Sheet?

eTT " <>+J<0 11 8| v 0 - [0 {[... vO>+ H3T?

8. What is meant by fire Insurance?
v/ (&N vo>+ HAT?

9. Define Rebate on bills discounted.

ST T & k2 —+2T0 [T Ju)2TOT [ 6TIn=+#{+& ?

10. What is Endorsement and Guarantees?
[~ T >t>03+{Y.. T vO>+ HAT?

Section—B

Answer any two of the following.
11. Thefollowing in an extract from the Trail Balance of Andhra Bank as at 31.3.2008.

Bills discounted

Rebate on bills discounted due April 2007

Discount received

An analysis of bills discounted as shown above shows the following.

Rs.

51,50,000

Due date of Amount | Term(months) | Discounts
bills @ %PA
Jan.13™ 7,50,000 4 12
Feb 17% 6,00,000 3 10
March 6" 4,00,000 4 11

10x1=10M

2x10=20M

Rs.

30,501

1,45,500



12.

| March 16" | 2,00,000 | 2 | 10 |
Find out the amount of discount to be credited to Profit and Loss Account and pass

appropriate entries.
31.12.2002 0 H < [0 0">4+@<] @ (TTI<— v+ISA” | [+~ 3< [T 4+ ev0 ~.

o3V,

&0 kY—+H{A #I6—0 T T
= —(TtA 1,2007 &0 kX—+{A #16—0 - T'..TO |1 Ju)=T

30,501

80 Vo160 & kX—+{A

o3V.
51,50,000

1,45,500

OIIT0 ™ [#—0 &1 kY—+{A #J6—0 T .. TIE®' 0 Al J[+<0 #N|O &0 yl

T—0~.

T ™ [y (TT™(|+ | 2t eoe~6 HL o T | &0 kX—+H{A #6..T]
(60 +e™(0o0 O ]

U] 13 7,50,000 4 12%

71— 01 €] 1] 6,00,000 3 10%

eV]c 6 4,00,000 4 11%

eVl 16 2,00,000 2 10%

0T 3ot - T OT+&L1 811 +11 +~ [™( v+Z3178.2008 ™ o v+™(eTo |Te>
80 +e™(0ol] [ J[ v"+@®<[] t"v (T Oyc..... Y'™[ 9T
eT](TT L ™01 0 [ 80| vjI 1 o |0 {[...a<te =3< (1 4% J< —xcl ol

VHA|D +&0 . vedl] oIyl T—0 ={"...|0 <1 TN..0T ®<A&L

#A|D +&L .
From following particulars prepare fire revenue a/c for year ending 31.3.2006.
Rs.
Claims paid 9,60,000
Claims as on 1.4.2005 80,000
Claims intimated but not accepted on 31.3.06 20,000
Claims intimated and accepted but not paid on 31.03.06 1,20,000
Premium received 24,00,000
Re-insurance premium 2,40,000
Commission 4,00,000
Commission on reinsurance ceded 20,000
Commission on reinsurance accepted 10,000
Expenses of management 6,10,000
Provision for unexpired risk on 1.04.05 8,00,000



Additional provision of unexpired risk 40,000

Bonus in reduction of premium 24,000

You are required to provide for additional reserve for required risks at 1% of net premium
in addition to opening balance.

31.03.06 HO {[+] [+~ FecT .0T+&0 0 |0 [To¥ RolFoVe Y'™D 0T ™(p
(No 3T #lp(T+&0 .
SRA

#l#+=0 RITTy T 9,60,000
#l*+=¢..6—0 RI'GTTy T..T 1.4.05 80,000
31.3.06 0 ™ [*@(T| 120 R STTyl T T ot | v+ LI<]H0 O & 0 3

20,000
31.3.06 0 ™ [*(T| ]=0 RI'GTTy T..T eT]o(TT v+LI<]+=03 =+ |#|+'+=
73 1,20,000

e=c0 | —MTe(T+ 24,00,000
0 vOl®<eV | |©ITe(T+ 2,40,000
J<MTwl[l 0T 4,00,000
e<] T..T®< 001 | vl ®<e\[ |[1 J<MToll 6T
20,000
v+LJ<]+=0 |1 vol®< e [T JI<MTwll 0T
10,000
yJTH XAy [ T+>T K6ITc . T
6,10,000
1.4.05 >e& ] Tev poIL 18t—RJT L ~[ 8,00,000
>e&[1 Tev poI 181—=RJ[T v< 0|0 v I ~[
40,000
™( /7+=0 | |©3To(T+ |[T vzt
24,000

MTo3IT | BeoT+u (11 [ .n™ o B>T>+ >e&(] Tev poILl [81—. . @< v<[]
0+>+ JUsITN 2ol exT #16— 1% [ J<oT | |©ITQ(T+, [ ~ ([ UeT #lo(Te
>0T.

13. Prepare revenue Account of LIC — West Zone from the following.

Particulars Rs. Particulars Rs.
Claims by death 76,000 | Claims by maturity 30,250




Premiums 7,26,690 | Transfer fees 129

Consideration for annuities Annuities paid 53,454
granted 82,120 | Expenses of management 31,924
Bonus paid in cash 2,420 | Interest dividend 97,836
Commission 9,570 | Surrenders 13,140
IT on Interim dividend 35,710 | Dividend paid on capital 5,500

Bonus in reduction of
premium 980
Life Insurance fund on
1.4.2003 15,00,000

Paid up capital of the corporation is Rs.5,00,000 and the net liability as per actuary’s
valuation is Rs.10,00,000 on 31.12.2004.

~>eoTg Jeocl] . OT+&[LIC
I & €ToJ eT+& ..+ RoI| TTe> Y™ 0T ™(@(NoIT #Jo(TTeTT.

deoO .. T A deocO .. T c3V.
RITTyll T..T €ToIA+™ | 76,000 RITTyll T..T (>e&l] T{ 30,2
© 7,26,69 | v™M ©) 50
| —3Te(T+.. T 0|0 ~* |1 ©E.~T 129
yO Nt @<0 |0 <00 o4 82,10 | #l#'+=0 y ] I+ T 53,4
0>e<[] T>=+ #[*'+=0 vVZO8T 2,420 | 0 63N¢) "AKoITc .. T 54
J<MTw| H 9,570 | €& f, &1 3&\+& 0 T | 31,9
eT< <> 1+v0 & & [+& TI| 35,710 | e<) T Tdp=/)0 U 24
IT|0 6T 980 | eTV..< (1 6+ |1 & 3&| 97,8
| |©ITQ(T+ ™(LZ+|1] v>+ vz0| 15,000 | +& T’ 36
St 00 13,1
93™( ; (e O ~( (1.4.2003) 40
5,50

0

80 +81@ #*'+|0 v €TV .. < [T 0+ 63V.5,00,000 ; €V >eA"+I<eTT | |J J+6J
+ [ J<6T v"<] ©™( 63V.10,00,000



Section—C

lll.  Answer any two of the following. 2x20=40M
14. The Balance Sheet of unsuccessful company was as following on 31.3.2004.

Liabilities Rs. Assets Rs.
Share Capital Buildings 1,60,000
5,000, 8% Pref. shares of 10 50,000 | Machinery 80,000
each Furniture 20,000
30,000 Equity shares of Rs.10 Debtors 50,000
each 3,00,000 | Discount on issue of shares 10,000
Creditors 50,000 | Profit & Loss Account 80,000

On the above data the following scheme o internal reconstruction was accepted.

a. Rs.10 preference shares be reduced on an equal number of fully paid reference shares
of Rs.6 each.

b. Rs.10equity share be reduced by Rs.6 each through total number of equity shares will
remain the same.

c. That the remaining amount thus available is apportioned as follows.

i. To write off Rs.60,000 from buildings, Rs.30,000 from machinery, Rs.6,000 from
furniture and the balance available from debtors.
Prepare the Balance sheet of the company after implementation of above scheme.

31.3.2004 0 evO] FU@(Te+™(+J+1 J<+0 |10 8—| vio 0 o 0 { (... J[+<0
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Prepare the Balance sheet of Aravind Bank Ltd. As on 31° December 2004 from the
following particulars.

Debit Rs. Credit Rs.
Money at call and short notice 5,000 | Paid up capital 10,000
Investments 30,000 | Authorised capital Rs.50,000
Bills discounted and purchased 4,000 | Bills payable 5,000
Furniture and fixtures 1,000 | Current accounts 25,000
Land and Buildings 17,000 | Fixed deposits 14,000
Loans 8,000 | Profit for the year 4,000
Cash credits 3,000 | Savings Bank accounts 10,000
Cash on hand and at bank 10,000 | Reserve fund 10,000.

78,000 78,000

The profit for the year is arrived at before making adjustments for unexpired discount
Rs.50 on bills discounted during the year not matured on 31° December 2004.
Acceptances and endorsements on behalf of customers Rs.2,000 and claims against the
bank not acknowledged as debts amounted to Rs.500.
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From the following particulars, prepare Revenue Account and Balance Sheet of Life
Insurance Corporation as on 31.12.2004.

Debit Balance Rs. Credit Balance Rs.
Claims by death 1,00,000 | Capital 1,00,000
Claims by maturity 3,00,000 | Insurance fund 8,00,000
Surrenders 30,000 | Reserve fund 3,00,000
Annuities 20,000 | Premiums 3,00,000
Cash bonus 10,000 | Registration fee 1,00,000
Bonus in reduction of Consideration for annuities 50,000
premiums 20,000 | Bills payable 5,000
Buildings 3,70,000
Investments 5,00,000
Loans 3,00,000
Bills receivable 5,000
16,55,000 16,55,000

Adjustments:

i Claims admitted by maturity but not paid Rs.15,000




ii. Further bonus utilized for reduction of premiums Rs.5,000

iii. Outstanding premium Rs.25,000

iv. Reinsurance claims recoveries by death Rs.10,000

| [+~ 3eol] T OT+& 9I™(; [V 81 +80 & @ TTd<— RoTOV«> Y'™[] OT

31.12.2004 HO { [ 06— v[O O = 0 {[...0 ™(@(VoIT #lo(T+& .

&l {AD0 NaT o3V, | |RI&D {AD ... T o3.
eToIA” .01 [T RIoTTyll 1 1,00,000 | eTV..< (T 0TT 1,00,000
- T 3,00,000 | 93™(; (eN O ~ 8,00,000
>e&[ Tev p]0 RVoTTyll T 30,000 | JusSITA T ~[ 3,00,000
- T 20,000 | | |©3Te(Ty] T 3,00,000
eM(T. Tdgp .. T3 .Te 10,000 | 10 |0 8...00 HO |3 4 1,00,000
yo a2+ T 20,000 | wOI |2+.-.0 1110 < 50,000
0>e<] T vZOST 3,70,000 | 71 O " T 5,000
| |[©3Te(Ty T™(LZ+[0 v@ 5,00,000 | #*'+|0 v T ~T
< vzdT 3,00,000
v (0 eH ~T 5,000
0 >T...0 &1 T..T
[ TTA" .. T ]
e N.T T .T 16,55,000 16,55,000

81 o3ITNV">T>

(1) >e&L1 Tev pl0 R (TTyll T..®<L vOTeT<+=0 ¢T]|o(TT #|*'+K I 63
V.15,000

() ©3ITe(TY T ™(£Z+|7 v®<1 T ¢ NL+=0 vz08t 53V.5,000

(6—) ol £..6—0 | |©3Te(Ty T.. T 63V.25,000

(&1 ) €TGIA" . RI(TTy ) Tl [T vOd | eV Ra'o(TTyl T..T 63IV.10,00
0






